Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

STENOGRAPHER GRADE C and D EXAMINATION 2018 (8th Feb 2019, Shift-11)

[Roll No. : [www.exammix.com "
[Registration No. [Exammix M

IName : .

[Exam Venue : EXCl mm | X.com
[Exam Time : 3:00 PM - 5:00 PM For Competitive Txams
[Exam Date : 08/02/2019

Section : STENOGRAPHER GRADE C and D EXAMINATION 2018

a1 HEIT TE IA F TAA H
Ans 1324 : 100

X2 813 : 169
X'3.123 : 49
v 912 : 144

Question ID : 9895801987
Status : Answered
Chosen Option: 1

Q.2 v e smwr &, SWEET & RXDFS & &7 # foram ST ¢ 3w PLATE # OMZUD & &9 # forar
Sem 1 39 % H5wr # TRAIN #1 H8 g sreen?

Ans  of 1. SSZIM
X 2 SQZHM
X 3 UQBHO
X 4 USBJO

Question ID : 9895802013
Status : Answered
Chosen Option: 1

==

Q3 37 REeT & A 1 A AW g F 3N W FEANF § BE 9N g 92 TEe 9 ¥ TE g

wiawg : faaw o FOlE 2

Ans 1 THE

X 2 g

A3 el

v o Tl

Question ID : 9895801978
Status : Answered
Chosen Option : 4

Q.4

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

37 RFeT & 709 FY S AW 9 F W W FERS § BE 9 @ 9¢ T 97 ¥ wa

EK:MS : AG:?

Ans X1 M
X2
V3 10
X2 JP

Question ID : 9895801964
Status : Answered
Chosen Option : 3

Q.5 37 fawey o1 9ua &t = Y 97 & 3@ @ WA § W v gger 92 g@ 9g & wEfa ¥
a’m@:m::?:m

Ans x.l_ m

X 2 T

v g

X 4 GHeATT

Question ID : 9895801977
Status : Answered
Chosen Option: 3

_

Q.6 = oreg T ow § Rt @ e Bl o @ T £ ST U ereg e B 3R e & OO
Exy

Ans x1ﬁ~ﬁf
X 2 Fga@r T
X 3. IUEATAT I9T

v FITERE

Question ID : 9895802011
Status : Answered
Chosen Option : 4

V7 37 R F TaE F S e T & 9 R e gmer = qu #

BPCW, DPEW, FPGW, | JPKW
Ans 1. IPHW

X 2 HPJW

v 2 HPIW

X 4 IPJW

Question ID : 9895801983
Status : Answered
Chosen Option: 3

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

[ € J

U 37 Rmeg @ T W S ew T # O F g smer # @ w

ZCC, XEE, VGG, |, RKK
Ans of 1. TII

X 2 g

X 3 SGG

X 4 RGG

Question ID : 9895801975
Status : Answered
Chosen Option: 1

Q9 o:ATA B, C, D, EANF &7 H &% AW FF Mo & §I F, AF SF aw &a1 g s B, E
& WHS 43T 1 A T D TH ZHI F WAA 45 &) F & WA FhF d37 77

Ans X1 E
X2 A
X3 F
v C

Question ID : 9895801981
Status : Answered
Chosen Option : 4

Q.1 e 7w 97 ==t F ¥ I o T 7 T TR ¥ g § S6 T e O 31 e aeE
TTH L

M RaeEer wEeT
X 2 Folpd LT
X 3 Fegal ¥ HAAT
X 4 FSATAT

Question ID : 9895801974
Status : Answered
Chosen Option : 1

U 37 R # T W S ew T A 9w g e # qm wY

22, 4, 16, 24, 6, 36, 26, 8, 64, 28, 10, __
Ans o/ 1.100

<230

X33

X4+ 9

Question ID : 9895801999
Status : Answered

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

l Chosen Option : 1 J

% 3@ RweT & 9UF F{ A & T ST F IFTAT T

N
O &) 0 )
——\ *
A B C D E

Ans

Question ID : 9895802009
Status : Not Answered
Chosen Option : --

Q.1 A e a0 et F A o e | sl Il R ag § ) @ aes g & wuat F & W Fmed v
3 ¥ @ @ 97 wEAE At @ e v A @1 i 3 R s R s /@ frew arfew e
faftaa 9 § Fua § & 7§ FAFH! F HFTEOT BT ¢/ B g

FU:

wft g% IR
55 s o #
g

I &% & PR TTF ¢l
Il. T 3T T+ &

M 1 e T || HFEROT AT B
X 2 Faer fasHy | HTEoT e g
Ko Tr & oreey | ar Tewy || 3Etor # g
Ko forswmw | 3R 11 gt segEer =

Question ID : 9895801966
Status : Answered
Chosen Option : 1

Q.1

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers
3w R 1 9w F A e wm & 9fd e e gmer # 9w

16 2. 15, 4, 13,7, 10, 171, 6,
Ans X' 1. 17

v 216

X314

X415

Question ID : 9895801994
Status : Answered
Chosen Option : 2

05-1 ofy wE Y, CE Y, ot Y Y a e g ar 28T o

Ans X1 7
v 4
X3 1
X445

Question ID : 9895801998
Status : Answered
Chosen Option: 2

U 5w R 71 77 = A e v F O =3 ge gmer @
16, 15, 12, 7,

Ans X1 D
X2 -2
X3 1
v 0

Question ID : 9895801986
Status : Answered
Chosen Option : 4

==

051 37 ReFeT # 907 FE S AW v F 3 AE TERT § W 9N gE ug 9w 97 & wEf #

17 + 306 :: 13 +: 2

As of 1182

X 2 275

< 3 169

X 4 144

Question ID : 9895802016
Status : Answered
Chosen Option : 1

Q.1
8

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

v fAf¥9a e smoT & ATISH T AHIST % w9 & 3k MAHEK % AEHKM & &7 &
forar srar 2, 3% % F NARGIS =+ 35w &9 # frr seem?

Ans  of 1. AGINRS
X 2 ANGIRS
X 3 ANIGRS
X 4 AGNIRS

Question ID : 9895801971
Status : Not Attempted and Marked For Review
Chosen Option : --

U 3w o Ree 71 T F S Red T # 9w g Amer # qu

43, 48, 58, 73,
Ans x1_ 78

v'2 93

X3 83

X 4 88

Question ID : 9895802014
Status : Answered
Chosen Option : 2

A s Rwew # T9w St e T & off FE ge e & o A
57,1195, .

Ans X1.18
X 2 21
X323
v 419

Question ID : 9895801985
Status : Answered
Chosen Option : 4

Q.2 e e W & Fwen 3K wEfFa & affor #r 3R 25 Fh T ok T W g R oA e e
T ger sk 15 ffr aman, e @ =7 et 3 g7 3ik 25 fel omom 37 O o T @ PR T B

Ans X110 T

X 2 20 AT

v 3 15 TR

X 4 25 TFAT

Question ID : 9895802001
Status : Answered
Chosen Option : 3

Q.2

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

2 37 39 3@ F TTT FT F BE a0 91t Fr g7 T & 2w T

AATHI, HY, Hh

bRl

Ans

X

X2

BFO%

Question ID : 9895802003
Status : Answered
Chosen Option : 3

—

Q2 ofy afz # TR F@ T §, WHE F TN Fg SO, T F gaT F@T S §, & F OGS Fr AT
3 %o e # w wa o A @ v R ol W i

e 3¢ KB
X 2 orr
X
v

Question ID : 9895801970
Status : Answered
Chosen Option : 4

Q.2 u av IR =@ F @ i g T 7 Ol veR @ g § Et uE e e ¥ e e @

4 o Wy
e X1 B BT
v 2 wmrEY ;e

X3 FE : AH

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

X4 gF . gor

Question ID : 9895801968
Status : Answered
Chosen Option : 2

Q2 fommr wofteor 1 W@ e ¥ fw R o R # oW # age Y s gl

18—2 x7 +6+10=67

Ans \’1'-3%T+
X2 3T -
X3+ 3T -
X4+ 3T«

Question ID : 9895802015
Status : Answered
Chosen Option : 1

Q.2 3y fawew & 907 T S XY 1@ 9T 90T W@ I W BT v weg 7 g9ur ofy ¥ walfes fF wEr

6 ¥
X
=
A
b §
Ans -
b
< &
+*
. *
v
L.,
*

~ [
|

&

b

Question ID : 9895802008
Status : Answered
Chosen Option : 2

Q§2 el &1 FiA A1 ¥ & 7F R Huer F e e W aEERe 9 ¥ ©@ I8 WO 9 sere

ybb _ byy _y _ byb _ yby
Ans X' 1. CCYC

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers
v2 ybby
X3 ybyb
X4 yybb

Question ID : 9895801976
Status : Answered
Chosen Option : 3

U 37 fweT @1 T S Rew T F i F g e # 9m H

JBKA, LEMA, NBOA,
Ans of 1. PBQA

X 2 PABQ

X 3 PABQ

X 4 PQBA

Question ID : 9895801984
Status : Answered
Chosen Option : 1

Q.2 mmﬁ'ﬁﬂuﬁ‘tﬂmﬁmﬁ&ﬂﬂgﬂ

9 ftoms frdie #, 7g wrar T B aew A # aes B & goen F &6 3% el aew C @ aes D
&1 g # A 3F T qeF B # Aew C F FA HF B § AN amw A aew E ¥ s
¥ e ¥ o e F g gt s e 7

Ans X 1B
X2D
v C
X4 A

Question ID : 9895801972
Status : Not Answered
Chosen Option : --

% ereat #r g FE AT FL
Ans X1 frgoT - fRof

K2 foear @ e
o I A
X 4 =HiEr - e

Question ID : 9895801980
Status : Answered
Chosen Option : 4

% e It T Y

Ans

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

X1P
v |
X3 B
X 4N

Question ID : 9895801967
Status : Answered
Chosen Option : 2

Qé3 TR oreg B ov § B @ O O o ¥ wAe & o9 o aeg B ¥ s e W une
Exyl

e 1 it
X2 cifeam
X 3 Fot
Ko gy

Question ID : 9895801962
Status : Answered
Chosen Option : 1

Q3 A B, C. D EF G 3 H &= gff W & siew & fow 5 57 & viomer 38§ 3ofr vl
3 zfEmed ¥ AR C oF # dar ¥, & G Rew 3w A

Ans X1~ ‘:lné'
X 2 FeaR-9=

™,

v 3 of¥aE
X 4. grEyoT-q&

Question ID : 9895801982
Status : Not Answered
Chosen Option : --

Q3 Rr v o Reet AT B9 99, & oa & () § @ 99 W S F 9 T @ (e
4 st )

Ans

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

X 2

Question ID : 9895802004
Status : Answered
Chosen Option : 3

L 3w o Rees 71 T F S e T F 9 F g AEer Fag

GJM, KLN, ONO,
ans X' 1. SOP
v 2 SPP
X 3 SRS
X 4 5QQ

Question ID : 9895801973
Status : Answered
Chosen Option: 2

063 =T oreg T 91T §, o @ O T o ¥ A §, 9T T g e ) T oS & 94
eyl

Ans x_l '.‘ g

X< 2. Tl

V' & TT/AEFE

X4 AT

Question ID : 9895801960
Status : Answered
Chosen Option : 3

U 37 Reew @ T S Rew TuE H O F g smer # 9@

6, 11, 20, 45, 134,

Ans

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

X 1749
X 2 497
Vs 479
X 4 794

Question ID : 9895801997
Status : Answered
Chosen Option: 3

Q.3 37 fweT & 997 &r 3 XY I 9T 90T @ I W BT v weg #r ghur ofy ¥ waifw 2w aer

8 ¥
X
SOLVED E
Y

A" %1 @anoe
X 2 Q3aA10S

V'3 @3vio2
X 2 @3ano2

Question ID : 9895802005
Status : Answered
Chosen Option : 3

3 . . :
S I TEA IIH F TIA

Ans X1.32 : 19
X221 : 51
v':58:26
X4 43 : 95

Question ID : 9895801988
Status : Not Attempted and Marked For Review
Chosen Option : --

L 57 R @ T W S ew T A 9w g e # Om A

4.5 14, 39, 88, 169,
Ans of 1200

X< 2 200

X 3 299

X 4 209

Question ID : 9895801992

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

Status : Answered
Chosen Option : 1

Q.4 F= v aiv wyEl & ag o oy | 3k 1 RBr aw # wmgﬁmﬁaﬁmm
T % w3 & o7 whoe muadt & fvewr v @ @ ol o7 R & B #e @/ @ e aifds sk
BRaT 79 & Fua F & 78 FwEL F AT FT & | F

FYA:
Tl Fhe e §
T gY e

forsd:
. ¥ o &
II. o Temdr 7 ¥

e Ko T ar T | 3 T 11 SieTERoT Far B
X 2 Faer sy | STEoT HEa g
X o Fae AT || 3FHIOT FIAT B
v B TR s = E

Question ID : 9895801979
Status : Answered
Chosen Option : 4

Q4 gfr w I HT X F DI HT ' E O w T F e @ oad O & s A9 R oar gHEmer
2 o T wT g

4
Ans 35

X3

v

Question ID : 9895801990
Status : Answered
Chosen Option : 4

% 37 39 3@ F AT F A R T A B g T F R g

AT A, FATSAH, TATTATET

Ans

v

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

52

«(©

Question ID : 9895802006
Status : Not Attempted and Marked For Review
Chosen Option : --

% 3@ RweT 1 9uF F{ A & T gEer F AT 3|

jul jei 1ed |23 1af
A B & 0 E
X
v [

i
X 3
X a4

Question ID : 9895802007
Status : Not Attempted and Marked For Review
Chosen Option : --

054 37 ey T H S AW 95 F I OF TEea § O IR gy 98 9 92 ¥ FEfeT §

3:90.5:-130 =7 . H7a8

Ans of 1 2450

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

X 2 2504
< 3. 2405
X 4. 2540

Question ID : 9895801996
Status : Not Answered
Chosen Option : --

Q4 mg # gEfew 5 a7 = w36 o 09T § AT 4 T T 3 T oS, R 9F o s g
6 3kt 6 felt o wrEfEe wors i R Al T EET T Rere w% g ¥ B 6 e a%
wrEfFe e Te TfEE g ¥ B G A7 @2

e e
X 2 grayor-qa
X o g
X 4 IeaR-aTeEE

Question ID : 9895802002
Status : Not Answered
Chosen Option : --

Q.4 v fAfaa g smar F DRONE & WILMV & &7 & forar sar §1 38 g2 swr & DONKEY & e
7 w3 R s

Ans 1. WLPVMB
X 2 WLVMPB
X 3. WLPMVB
v+ WLMPVB

Question ID : 9895801961
Status : Answered
Chosen Option : 4

Qé4 A IS FAeT W 6T HEEET AT SHA GRIH F AR A AT L P qEH TE,

TF Y 20 ol I, T 9 sl At 3R JE sk o Rl wem; o A, 37 A @w
aﬂtﬁmgmmaﬁqg‘aﬁa:ﬁvzo%ﬁm|

@AW % Frde AT e gEaeE & a9 wad HH gl T 37
A o 41 T

X 2 49 TR

X< 3 345

X 4 245 &

Question ID : 9895802000
Status : Not Answered
Chosen Option : --

.4 > % :
% HETE WEA TIH T

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

Ans X 1. 3797 : 42

X 21479 : 83
X 3 2564 : 21
' 4632 : 23

Question ID : 9895801995
Status : Not Answered
Chosen Option : --

LS 3w o R 71 T F S e T F 9 F g AEer # 9w

AKT, BLU, CMV, DNW,

ans 1. FOX

v 2 EOX

X 3. FOY

X 4 EQY

Question ID : 9895801965
Status : Answered
Chosen Option : 2
a———

01.5 2016 ¥ AT WiTgfas WRTAr F AT SR TR ¥ T TH FF0 o 0F g gl

S - —
X2 F3H
v 5 HfdeR
<4 wEfrEe

Question ID : 9895801805
Status : Not Answered
Chosen Option : --

Y R 5.8 S O 78 3RE R F A8 e 22
Ans x-lm

X 2 wa

X Ry

v 4 TEEdr

Question ID : 9895801829
Status : Not Answered
Chosen Option : --

U foT F FF T 2or FT T TEY wET A7

Ans

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

X aATET
2 {9
X 3. FHaATET
X 4 Tgzfe’s

Question ID : 9895801844
Status : Marked For Review
Chosen Option : 2

% T Tt § ¥ e fRegmt gatar
Ans x.l. mqﬁ_aﬂ[r

X 2 A

X 3w T4

v o Eferge

Question ID : 9895801834
Status : Not Answered
Chosen Option : --

—

L g Fr gl e F9 o e & F1 FTae Sia 9
Ans x1wmmm

X wiz g o

v Fwe g

X 4 TIeT AT

Question ID : 9895801852
Status : Marked For Review
Chosen Option: 3

% o & sftwy ARt F ooy & Beavegar ¥
Ans X 1. 3T R

X 2 ffz Agrarr

X 3. FETEANT AR

v 4 gImer T @rEr

Question ID : 9895801827
Status : Marked For Review
Chosen Option : 4

G frw 9% & e & e o gf?

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

ans 11291
X 2 1391
X3 1100
v 4 1191

Question ID : 9895801833
Status : Answered
Chosen Option : 4

% TAT 2018 TF ST H TIW o AL [T Pl A 2
Ans x1?ﬂﬁﬁ'~ﬂ'ﬁ§

X 2 fe@m- weX

v o grem- wfear

X 4 AT - FeMR

Question ID : 9895801826
Status : Not Answered
Chosen Option : --

°§5wm€mm$m§mm

Ans X 1.1891-1896
< 21911-1915
~ 3 1876-1891
v 4 1829-1833

Question ID : 9895801832
Status : Not Answered

Chosen Option : --
" PMFBY @& qut &9 @1 372
Ans X 1.
qerre 7 F afasT AT (Pradhan Mantri Fukhri Bhavishya Yojna)
v )
qeTe FT BH $AT T (Pradhan Mantri Fasal Bima Yojana)
X 3
gt 7 =afig omeT WSAT (Prime Minister's Fast Benefit Yojana)
X a

g J @eg H#R 9w WSAT (Prime Minister's Food and Beverages Scheme)

Question ID : 9895801846
Status : Not Answered
Chosen Option : --

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

% =R &7 ¥ 9 o AT oot F= om T FE R
Ans x.l;hﬁq_r

VER o

X3 gifeEer

X 4 FaH

Question ID : 9895801820
Status : Marked For Review
Chosen Option : 2

L =fafET # @ Fi7 A & go=w a1 sfafattes s §2
Ans “133_@"-

X 2. STRaY
X 3. Tgar
X4 pioer

Question ID : 9895801816
Status : Marked For Review
Chosen Option: 1

% S R Us @ AE ged 872
ans o TERTE
X 2 Feg gaer

v o HERTSE
X 4 TAEAA

Question ID : 9895801806
Status : Answered
Chosen Option : 1

% dmerm (NASSCOM) F 3remet FiF §7
A o gEaTetr By

X2y e

X glRw ag

X 4 FAR FTA fager

Question ID : 9895801842
Status : Not Answered
Chosen Option : --

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

L e F 18 ¥ vRIE Qe F 9T ¥ Faw =T TEw S
Ans of 115

X2 7

X3 11

X 49

Question ID : 9895801851
Status : Answered
Chosen Option : 1

% R dise # TEe W A1 @ ST S0 910
e T g

X 2 PfAse &g

X s gy fag

¢'4.ﬁ?141?~rm?rﬁ‘§

Question ID : 9895801825
Status : Answered
Chosen Option : 4

U8 frw gorer weER ¥ Wiy RBst W & 2018 F WA S e o e
e X e far

X 2 P e

v o e T 13w aXer

X 4 féar B

Question ID : 9895801854
Status : Not Answered
Chosen Option : --

Qéf’ B T~ 3ETT (FFTSiT 3EURYY) # 2018 & 23 R Fr #@ig §'é’ ofr?

Ans x_lmmm

v 2 B 3T

X 2 57 Fee TSET 3T
X 4 TUTYFSR TSI 3T

Question ID : 9895801839
Status : Marked For Review
Chosen Option : 2

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

%V et @ 92
K TETER Y
X 2 HATE 9HE

X s FAET vHE
LY 3
& TR THE
Question ID : 9895801835
Status : Answered
Chosen Option : 4
Q.7
o 9T 9T FH 1T 2
Ans x 1. 1GC
v 2 0°C
X3 .1°C
X 4 10°C
Question ID : 9895801819
Status : Marked For Review
Chosen Option : 2
U g S 2019 A FFAAA TGRS FE ST F oA &2

ANS X1 3
v fERE
X 3 mEr
X 4 AT

=

Question ID : 9895801848
Status : Marked For Review
Chosen Option : 2

—

Y ¥RE F TU-AY RS FT I TR SR IRAT F T3 82
Ans {12

3
X35
4

Question ID : 9895801837
Status : Not Answered
Chosen Option : --

Q.7

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers
1922 F Ry ¥ dT W W= T F R o Fr g Fr g o4
Y
X2
X 3 gged
X 4

Question ID : 9895801831
Status : Answered
Chosen Option: 1

Q.7 Sham-Far H vEfey (1% TeH ydade) & v vfafes sagany e & 2018 # BF wetaa

4 fr mm
v 2% AgFAE T TIAH
X2 & ug &

X 3 37T #Higer
P - %EFH'

Question ID : 9895801810
Status : Not Answered
Chosen Option : --

% Tur S=Ed 2019 F YT WA F TG A 2
M e T

X 2 3 T8

Ve g T, Ted AR

X o s

Question ID : 9895801847
Status : Answered
Chosen Option : 3

Q.7 v e aAe W 9 598 FouAe T 9REad F R s o REfRe & 78 3w
6 ur Fwerr 32

Ans «'1' : ﬁﬁ T
X 2 gaferg I

X 3. 3GTcd I
X 4 o arg

Question ID : 9895801821
Status : Not Answered
Chosen Option : --

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

Q.7 fadr a% 2018-19 & foT #RT F ¥Wee M 309 (FE) F 9T F 77 7 TIHET o F7 FaT

7
Ane X1 3.0 gfaea
X2 3.1 gfaeE
X 3 3.2 gfaeEa
v 4 3.3 gz

Question ID : 9895801814
Status : Not Answered
Chosen Option : --

°é7 Ty 3l Qe F T Tk SAd STA/ATer SR F TEeT Heaers Hi §7?
Ans v ;@- T

X 2 g T

K3 Sl T

X 4 T8 TR

Question ID : 9895801853
Status : Answered
Chosen Option: 1

% o F ardreToT & ARt a9 E
Ans o 1. 540 callg

X 2. 324 calig

X 3. 267 callg

X 4 423 callg

Question ID : 9895801822
Status : Not Answered
Chosen Option : --

Y or YA @ w ik ae ¥ o S ser 12
A 1 gEd s IRET

# 2 oferar 1 e

X 3. o TR & gEg IEEa

X 4 9 @1 YRET

Question ID : 9895801828
Status : Answered
Chosen Option : 1
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Q.8 farw 7raeiy Fowel & U Hwer B & aggy ow IR #AW gee wae @ H@h s gy & A
T Rl oft Sorsr 31 90 & 79 F AeTar 78 & Swh?

e 1 o
X yfeerw
V5 ST
X 4 e

Question ID : 9895801836
Status : Not Attempted and Marked For Review
Chosen Option : --

Q8 2018 3 swwsn % FTEATY & g F FRE AV RiE F g fraw A B

ans X'1.176
v'2 125
X 3 146
X 4 159

Question ID : 9895801850
Status : Not Answered
Chosen Option : --

Qéa fore 3907 F =RT IS @R F7 # M g F A RO S g 82

Ans x.l. ma_
VAR
X o Revsiaes
X oty

Question ID : 9895801815
Status : Answered
Chosen Option : 3

A BT sRT T aEEET B
w5 o Sy

Question ID : 9895801811
Status : Answered
Chosen Option: 3

Y e # @ 9 @ e I g aem A8 R?
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Ans ?(1- FIEEI’
X2 faam
X o dom
v o

Question ID : 9895801830
Status : Not Attempted and Marked For Review
Chosen Option : --

oés TR, Wl i T & g a AR w & v # e F @ #E W aeete T a8 R
e X YR srer-ferfoT

X 2 q\i‘ﬁ‘qﬂ' grar Frer-faeioT

X s O 3 Fe-AuR

v g

Question ID : 9895801824
Status : Answered
Chosen Option : 1

W &% & wowe #1 safaRa s
Ans X 1. 85 callg

X 2. 54 callg

'3 80 calig

X 412 callg

Question ID : 9895801823
Status : Not Answered
Chosen Option : --

P ARET T R A I Y F IR A T A
Ans X 1 FETH

X 2 98

X 3

o & HAT

Question ID : 9895801808
Status : Not Attempted and Marked For Review
Chosen Option : --

Qés frfafea & ¥ 317 axa & gow s F w9 F = dus B F seewd
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K 1. SureieTer
v 2 TS TS
X 3. Hem
Ll
X4 e

Question ID : 9895801845
Status : Answered
Chosen Option : 2

Q.9 2018 &, ESIC 7 ISSA 75 dfdew =8 e HSTECAT (ISSA) 7 Furem 1927 & fFes aeam=aey
0 & H oo

e X faeg
X 2. 9RETT 3eeT aiEw (Cl)
Vo HAUSET AT WIS
X4 ST HH Wi

Question ID : 9895801840
Status : Not Answered
Chosen Option : --

01-9 WA TER F Trateiee & ¥ 5w af 9% fRer e F3 a e e e

Ans X1, 2023
V2 2022
X 32020
X 4 2021

Question ID : 9895801812
Status : Not Answered
Chosen Option : --

Q9 ot 3t 2 Frerr A et & P 2R AT 2R RERE S
e o e Rt

X2 e

X3 srmeiet

X 4 FrorgeT

Question ID : 9895801818
Status : Not Answered
Chosen Option : --

Y o S Y Sy HeRTs F F9F w9 F S a2

Ans
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X1 ooy

X 2 ghUd (Socrates)
X 3. orFAsT FeIfEeT
v o 3TE] (Aristotle)

Question ID : 9895801817
Status : Answered
Chosen Option : 4

049 o wderor amAor 2018 #r T F AR, wRE # FF @ Bow gE0 FEw F=o
Ans X 1. 3TITIT

X 2 SElge

V'3 Tardr

X4 i

Question ID : 9895801838
Status : Marked For Review
Chosen Option : 3

Y ora F w TsT # 9y wofEg v mee e
Ans x_lm

X 2 FERSE

X 3 3TTUTES g&er

v 4 FiET

Question ID : 9895801813
Status : Marked For Review
Chosen Option : 4

069 fFE TUTT W ART - SEOET GATCAT T @ 32 a7 GERI0T Ao BhaT T or?

Ans «1 a *
X 2 gerar

X 3. SEge
X 4 7% s

Question ID : 9895801841
Status : Not Answered
Chosen Option : --

Y TERE # Ry aite 7w frua R

Ans
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X1 FeRTATETY
X2 gy =herdr
X 3 Fr T
(4.11?:!'3?!371';3?!1?

Question ID : 9895801807
Status : Not Answered
Chosen Option : --

% aRa &, TSI F FEHE oy ant F B @ar 2
Ans x17a_é_

X226 ag

X3 43§

vi5a§

Question ID : 9895801849
Status : Answered
Chosen Option : 4

Qé9 derveer S, S ava # Taso wH0T arAvT 2018 F HER WU wAd TWEo e e wew
foua 77
Ans ?(1- ﬂﬁ‘?

X 2 FeEH

S a-coic

X4 afFwn

Question ID : 9895801843
Status : Not Answered
Chosen Option : --

% T s A wEiia fere ART wET Rvg 2

e XK. aatew

X 2 e gear

v 3 3ifEar

X 4. e

Question ID : 9895801809
Status : Answered
Chosen Option : 3

Q.1
01
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Identify the segment in the sentence which contains the grammatical error.

A number of points of resemblance between the Australian and Dravidian languages is discovered, despite the fact that
the homes of the two races are so far apart.

Ans 3 1. despite the fact
/< 2. points of resemblance
/< 3. so far apart

% is discovered

Question ID : 9895801859
Status : Answered
Chosen Option : 4

Q.1 Select the correct passive form of the given sentence.
02

‘When big tech companies owned your phones. they could make money on all sorts of services.

Ans Jl

When vour phones are owned by big tech companies. they could make money on all sorts of services.

X2

When your phones were owned by big tech companies. they could make money on all sorts of serviees.

X 3

When your phone were being owned by big tech companies. they could make money on all sorts of services.

X a

When your phones owned big tech companies. they could make money on all sorts of services.

Question ID : 9895801865
Status : Answered
Chosen Option : 2

%-; Identify the segment in the sentence which contains the grammatical error.

Ever since Mary won the election, she has been behaving as if she was a queen.
Ans - X 1. since
< 2 the election
/< 3. has been behaving

W 4 was

Question ID : 9895801861
Status : Answered
Chosen Option : 4

Q.1 Select the alternative that will improve the underlined part of the sentence; if no improvement is required, select
04 ‘No improvement”.

Denmark has been long celebrated as a land of law and order.

Ans o 1. No improvement
/< 2. has been celebrating
/< 3. has been all along celebrated

/< 4. has been far too long celebrated
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Question ID : 9895801893
Status : Answered
Chosen Option : 3

Q.1 Select the most appropriate option to fill in the blank.

05
The line between work and life is so that for millennials, the idea of a work-life balance has never been an
aspiration, let alone a reality.

Ans  of 1. blurred
/< 2. ambiguous

/< 3. cloudy
/< 4. steamy

Question ID : 9895801897
Status : Not Answered
Chosen Option : --

Q.1 Given below are four sentences, three of which, are jumbled. Pick the option that gives the correct order.
06

A. The clock struck quarter past nine as Mamta hurried into the big block of offices.
B. She resolved to leave home earlier from the next day.

C. So she was a few minutes late on the first day of her job.

D. The bus had crawled through the dense traffic.

Ans X 1. ABDC
X 2. ABCD
+ 3 ADCB
X 4 ACDB

Question ID : 9895801922
Status : Not Attempted and Marked For Review
Chosen Option : --

T—

Q.1 Select the alternative that will improve the underliged part of the sentence: if no improvement is required, select
07 ‘No improvement”.

If you are ever in Chennai_you come and see me.
Ans X 1. No improvement
< 2. you cameand see me.
/< 3. come see me.

+ 4 come and see me.

Question ID : 9895801890
Status : Answered
Chosen Option : 4

Q.1 Select the correct direct form of the given sentence.

Standing in front of the Taj Mahal, Raju said that he had always wanted to see the Taj Mahal

Ans x-]_

Standing in front of the Taj Mahal Raju wondered, “T have always wanted to see the Taj Mahal.”

X 2

Standing in front of the Taj Mahal Raju said, “I had want to see the Taj Mahal.”
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Vs
Standing in front of the Taj Mahal Raju said, “T have always wanted to see the Taj Mahal.”

X a4

Standing in front of the Taj Mahal Raju told me, *“I have been always wanting to see the Taj Mahal.”

Question ID : 9895801883
Status : Answered
Chosen Option : 3

%'91 Select the correct passive form of the given sentence.

Computer networks can easily predict our on-line behavior.

Ans ?(1~

Our on-line behavior can easily be predict by computer networks.

X2
Our on-line behavior easily be predicted by computer networks.

X 3

Our on-line behavior was easily predicted by computer networks.
v

Our on-line behavior can easily be predicted by computer networks.

Question ID : 9895801871
Status : Answered
Chosen Option : 4

Q.1 ' = . Ry . .
1o Select the most appropriate meaning of the idiom given below:

The graveyard shift
Ans X 1. working at the time when everybody is resting

V2 the work shift during the night, often from midnight
to 8 am.

/< 3. an energy-sapping shift that fast tires you out
/< 4 working only at midnight everyday

Question ID : 9895801937
Status : Marked For Review
Chosen Option : 1

(:-11 Identify the segment in the sentence which contains the grammatical error.

Many a girl were influenced by the inspirational lecture given by the Nobel laureate.

Ans 1. Nobel laureate
' 2. were influenced
/< 3. inspirational lecture

/< 4 Many a girl
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Question ID : 9895801860
Status : Answered
Chosen Option: 2

Q.1 Select the alternative that will improve the underlined part of the sentence: if no improvement is required, select
12 *“No improvement™.

If you don’t like mathematics at school, you don’t like it at college too.
Ans % 1. No improvement

/< 2. you haven’t liked it at college too
' 2 you may not like it at college too
/< 4. you are not liking it at college too

Question ID : 9895801887
Status : Answered
Chosen Option : 2

‘3; Select the correct direct form of the given sentence.

The students wanted to know whether they could postpone the test until Monday.

Ans x 1.
“Shall we postpone the test until Monday?” the students asked:

X2
“Could they postpone the test until Monday?” the students asked.

v

“Can we postpone the test until Monday?**the students asked.

X a
“Will we postpone the test to Monday?” the students protested.

Question ID : 9895801880
Status : Answered
Chosen Option : 1

Q.1 Identify the segment in the sentenceWhich contains the grammatical error,

14
Baghdad remains a profoundly damaged place, and for all its newness. Dream City echo many of the city’s continning issues.

Ans 1. continuing issues
/< 2. a profoundly damaged
& 3. newness
v 4 echo

Question ID : 9895801857
Status : Marked For Review
Chosen Option: 3

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the *hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition, Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown after refusing it twice;
Hamlet sheaths his sword instead of executing Claudius; Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No : 115

Q1 Select the most appropriate option to fill blank no 1.

15
Ans X 1. fool
« 2. protagonist
X 3 villain
< 4. actor

Question ID : 9895801901
Status : Answered
Chosen Option : 2

Comprehension:

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the “hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition, Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the kevs to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown after refusing it twice;
Hamlet sheaths his sword instead of executing Claudius: Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No: 116

Q1 Select the most appropriate option to fill blank no 2.

16
Ans X 1. size
/< 2. style
« 3. promise
#< 4 riches

Question ID : 9895801902
Status : Marked For Review
Chosen Option : 4

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the *hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition. Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown after refusing it twice;
Hamlet sheaths his sword instead of executing Claudius; Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No : 117

Q.1 e :
17 Select the most appropriate option to fill blank no 3.

Ans 1. destiny
« 2. potential

< 3 luck
X 4 fate

Question ID : 9895801903
Status : Answered
Chosen Option: 1

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the *hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition. Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown afier refusing it twice;
Hamlet sheaths his sword instead of executing Claudius; Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No: 118

Q.1 M :
1g Select the most appropriate option to fill blank no 4.

Ans  of 1. ultimately
/< 2. generally
/< 3. crucially
/< 4. obviously

Question ID : 9895801904
Status : Answered
Chosen Option: 3

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the “hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition, Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown after refusing it twice;
Hamlet sheaths his sword instead of executing Claudius: Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No: 119

Q.1 M -
19 Select the most appropriate option to fill blank no 5.

Ans 1. independent
o 2 simplified
# 3. undefined
/< 4. undeveloped

Question ID : 9895801905
Status : Answered
Chosen Option : 3

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the *hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition, Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown after refusing it twice;
Hamlet sheaths his sword instead of executing Claudius; Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No : 120
Q1 Select the most appropriate option to fill blank no 6.

20

Ans 5 1. implodes
2. imbibes
o 3 implies
/< 4 impinges

Question ID : 9895801906
Status : Marked For Review
Chosen Option : 3

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the *hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition, Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown after refusing it twice;
Hamlet sheaths his sword instead of executing Claudius; Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No : 121

Q1 Select the most appropriate option to fill blank no 7.

21
Ans  of 1. character
&< 2 Soul
#< 3. Heart
< 4 Plot

Question ID : 9895801907
Status : Answered
Chosen Option : 1

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the *hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition, Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown after refusing it twice;
Hamlet sheaths his sword instead of executing Claudius: Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No : 122

Q.1 M -
5o Select the most appropriate option to fill blank no 8.

Ans 3 1. threatening
/< 2. gambling
/< 3. dreaming
« 4 wanting

Question ID : 9895801908
Status : Answered
Chosen Option : 1

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the *hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition, Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown afier refusing it twice;
Hamlet sheaths his sword instead of executing Claudius; Romeo
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No : 123

Q1 Select the most appropriate option to fill blank no 9.

23

Ans < 1. Before
#< 2. Since
X 3. With

o 4 Without

Question ID : 9895801909
Status : Answered
Chosen Option : 1

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In literature, a tragedy is a plot in which the “hero’, because of some
inherent flaw in his/her character, dies. Thus Hamlet, Julius Caesar
and Romeo and Juliet are tragedies. In each of these plays the

(1) is either a great man or a man of great
(2) instead of fulfilling his (3) however, each one
succumbs to his tragic flaw and (4) dies. Caesar’s
flaw is ambition, Hamlet’s is the inability to take action, and
Romeo’s is his tendency to love too much. It might seem, from this
highly (5) definition, that character and resolution
are the keys to a tragedy. But tragedy also (6) a central
action, a crisis which tests that flawed part of the protagonist’s

(7) In Julius Caesar, the test comes when Mark Antony
presents Caesar with the crown. Hamlet’s test comes in the chapel,
after witnessing his uncle’s reaction to the play. Mercutio’s death
tests Romeo. In all three cases the protagonists are found

(8) Caesar accepts the crown after refusing it twice;
Hamlet sheaths his sword instead of executing Claudius; Romeao
murders Tybalt in a vengeful rage. (9) the test, the flaw
might never (10).

SubQuestion No : 124
Q1 Select the most appropriate option to fill blank no 10,

24
Ans 3 1. develop
/< 2. depose
& 3. reduce

o 4 surface

Question ID : 9895801910
Status : Not Answered
Chosen Option : --

Q.1 Identify the segment in the sentencewhich contains the grammatical error.

25

Scientists have discovesed anew tree frog species, with an extraordinary. enlarged claw-like structure located at the base
of the thumb, that live on aygmote tabletop mountain in the Andes.

Ans X 1. Jocated at
/< 2. have discovered

/< 3. with an extraordinary

« 4 live on a remote tabletop mountain

Question ID : 9895801864
Status : Answered
Chosen Option : 4

Q.1
26
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Select the most appropriate meaning of the idiom given below:

Straight from the horse's mouth

Ans 1. believe someone who is very confident

v 2

hear something from someone who has direct, personal knowledge

/< 3. get information from a popular television channel

X a

hear something from someone who has many followers on social media

Question ID : 9895801939
Status : Not Answered
Chosen Option : --

%'71 Select the correct indirect form of the given sentence.

Chettiar said to me, *“You may return the money next month.”

Ans ?(1.

Chettiar told me that I am to return the money the coming month.

X 2
Chettiar rejected that I might return the money the coming month.

/< 3. Chettiar acceded that I return the money the next month.

v

Chettiar acceded that I might return the monev in the coming month.

Question ID : 9895801876
Status : Answered
Chosen Option : 4

Q.1 Select the correct passive form of the given sentence.

Researchers have found that employees who have friends at the office are generally happier in their job.

Ans ?(1~

It could be found by researehers that employees who have friends at the office are generally happier in their job.

X 2

It is being found by researchers that employees who have friends at the office are generally happier in their job.

X 3

It was found by researchers that employees who have friends at the office are generally happier in their job.

v

It has been found by researchers that employees who have friends at the office are generally happier in their job.

Question ID : 9895801873
Status : Answered
Chosen Option : 4

%-; Identify the segment in the sentence which contains the grammatical error.

The teacher had hardly left the room than the pupils started enjoving.
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Ans o 1. than
/< 2. started enjoying.
#< 3. The teacher
/< 4. had hardly left

Question ID : 9895801863
Status : Answered
Chosen Option: 1

033 Select the correct indirect form of the given sentence.

The bookie said, “Alas! I have lost all my fortune.”

Ans X 1. The bookie said alas he had lost all his fortune.
' 2. The bookie lamented that he had lost all his fortune.
# 3. The bookie observed that he has lost all his fortune.
/< 4 The bookie accepted that he have lost all his fortune.

Question ID : 9895801878
Status : Answered
Chosen Option : 2

3'11 Select the correct passive form of the given sentence.

Alr travel can spread a pandemic worldwide within days.

Ans #’1.

A pandemic can be spread worldwide within days by air travel.

X 2
A pandemic shall be spread worldwide within days by air travel.

/< 3. A pandemic is spread worldwide within days by air travel.

p

An air travel can be spread within days by worldwide pandemic.

Question ID : 9895801866
Status : Answered
Chosen Option : 1

Q1 Select the most appropriate antonym of the given word.

32
NUMEROUS

Ans 5 1. uncountable
2 scarce

/< 3. occasional
/< 4 several

[ Question ID : 9895801932 ]
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Status : Not Answered
Chosen Option : --

Q.1 Given below are four sentences, three of which, are jumbled. Pick the option that gives the correct order,
33

A. Jamshed ji Tata was born in 1839 in a traditional Parsi family.

B. Then worked in trading for some years in China and UK.

C. He was a great believer in technology and revolutionized the Tata Textile Mills.
D. He started his career as an apprentice in his father’s store,

Ans  of 1. ADBC
X 2. ADCB
X 3. ACDB
X 4 ACBD

Question ID : 9895801926
Status : Not Answered
Chosen Option : --

Q.1 Given below are four sentences, three of which, are jumbled. Pick the option that gives the correct order.
34

A. The Qutub Minar is one of the most important monuments in Delhi.

B. Was it just built by a king to please himself or is there a reason behind its construction?
C. It towers over the city like a sentinel.

D. But if we look at its height, one wonders why it was built.

Ans X' 1. ADBC
v 2 ACDB
X 3. ACBD
X 4 ABDC

Question ID : 9895801925
Status : Not Answered
Chosen Option : --

—

Select the most appropriate synonym of the given word.

Q.1
35

FROHIBITION
Ans X" 1. declaration
/< 2. assertion

v 3 exclusion
/< 4 decree

Question ID : 9895801927
Status : Not Answered
Chosen Option : --

03'61 Select the correct passive form of the given sentence.

Their emotionally intense collaboration maximized their creative potential.

Ans X1.

Their creative potential is maximizing by their emotionally intense collaboration.

2

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

Their creative potential was maximized by their emotionally intense collaboration.

X 3

Their creative potential maximize their emotionally intense collaboration.

X a

Their creative potential is being maximized by their emotionally intense collaboration.

Question ID : 9895801874
Status : Answered
Chosen Option : 2

0371 Identify the segment in the sentence which contains the grammatical error.
Raja was elected as Secretary of the Housing Society by members present and voting.
Ans  of 1. and voting

/< 2. was elected
/% 3. as Secretary

/< 4 members present

Question ID : 9895801862
Status : Answered
Chosen Option: 3

°3-; Select the correct passive form of the given sentence.

He questions the ability of markets to survive without state intervention.

Ans ?(1

The ability of markets to survive without state intervention was being questioned by him.

X 2

The ability of markets to survive without state intervention questioned by him.

p

The ability of markets to survive without state intervention are questioned.

v o

The ability of markets to survive without state intervention is questioned by him.

Question ID : 9895801869
Status : Answered
Chosen Option : 4

Q.1 Identify the segment in the sentence which contains the grammatical error.

The Life-cycle hypothesis holds that individuals seek to smooth consumption over the course of a lifetime — borrowing
in times of low-income and saving during period of high income.

Ans 1. in times
« 2 period of
/< 3. over the course
/< 4 to smooth

Question ID : 9895801856
Status : Not Answered
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l Chosen Option : -- J

Comprehension:

Read the following passage and answer the questions.

A new paper published by Rochman and her colleagues in
February. m the journal Ecology. sifts through past research
on marme debris to assess the true extent of the
environmental threat. Plenty of studies have sounded alarm
bells about the state of marme debris: Rochman and her
colleagues set out to determmne how many of those percerved
risks are real.

Often. Rochman says. scientists will wrap up a paper by
speculatmg about the broader mpacts of what they ve found.
Maybe therr study has shown that certam seabirds eat plastic
bags. for example. and the paper goes on to warn that whole
bird populations are at risk of dvmg out. “But the truth was
that nobody had yet tested those percerved threats.” Rochman
says. “There wasn’t a lot of mformation.”

Rochman and her colleagues examimed more than a hundred
papers on the mpacts of marme debris that were published
through 2013. Within each paper. they asked what threats
scientists had studied—366 percerved threats m all—and
what they’d actually found.

In 83 percent of cases. the perceved dangers of ocean trash
were proven true. In most of the remaming cases. the
workmg group tound the studies too shoddy to draw
conclusions from—they lacked a control group. for example.
or used faulty statistics.

Strikmgly. Rochman says. only one well-designed study
failed to find the effectit waslookmg for. an mvestigation of
mussels mgestmg microscopie plastic bits. The plastic moved
from the mussels” stomachs to thew bloodstreams, scientists
found. and stayed there for weeks—but didn’t seem to stress
out the shellfish.

A lot of ocean debris 1s “microplastic.” or pieces smaller than
trve millimetres. These may be the beads from a facial scrub.
fibres shed by synthetic clothing in the wash. oreroded
remmants of larger debrnis. Compared to the number of studies
mvestigatmg large-scale debris, Rochman’s group found hittle
research on the effects of these tmy bits.

There are also. she adds. a lot of open questions about the
ways that ocean debris can lead to sea-creature death. Many
studies have looked at how plastic affects an mdividual
animmal. or that animal’s tissues or cells, rather than whole
populations. And m the lab. scientists often use higher
concentrations of plastic than what’s really n the ocean.
None of that tells us how many birds or fish or sea turtles
conld die from nlastic nolhition—or how deaths n one
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species could affect that amimal’s pled'itl}l& or the rest of the
ecosystem.

“We need to be asking more ecologically relevant questions.”
Rochman says. Usually. scientists don’t know how disasters
like oil spills or nuclear meltdowns will affect the
environment until after they’ve happened. she says. “We
don’t ask the right questions early enough.” But if ecolog:ls’rs
can understand how the slow-moving disaster of ocean
garbage is affecting ecosystems. they might be able to
prevent things from getting worse.

SubQuestion No : 140

% Select the option to complete the statement below.
According to the passage, the significant difference
between natural disasters and ecological disasters,
especially with reference to marine debris, is that

/< 1. ecological disasters are not natural and man-made.

o 2. the latter can be predicted and prevented

X 3.

ocean debris does not cause natural disasters but
could become more dangerous

we study the former after they happen and the latter

e before they happen

Question ID : 9895801946
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the questions.

A new paper published by Rochiman and her colleagues n
February. i the journal Ecelogy. sifts through past research
on marine debris to assess the true extent of the
environmental threat, Plenty of studies have sounded alarm
bells about the state of marme debris: Rochman and her
colleagues set out to determimne how many of those percerved
risks are real

Often. Rochman says. scientists will wrap up a paper by
speculatmg about the broader mpacts of what they ve found.
Maybe therr study has shown that certam seabirds eat plastic
bags. for example. and the paper goes on to warn that whole
bird populations are at risk of dving out. “But the truth was
that nobody had vet tested those perceived threats.” Rochman
says. “There wasn’t a lot of mformation.”

Rochman and her colleagues exammed more than a hundred
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papers on e Mmpacts oI Marime depris mar were punusned
through 2013. Within each paper. they asked what threats
scientists had studied—366 percerved threats m all—and
what they’d actually found.

In 83 percent of cases. the perceved dangers of ocean trash
were proven true. In most of the remaming cases. the
workmg group tound the studies too shoddy to draw
conclusions from—they lacked a control group. for example.
or used faulty statistics.

Strikmgly. Rochman says. only one well-designed study
failed to find the effect it was lookmg for. an mvestigation of
mussels mgestmg microscopic plastic bits. The plastic moved
from the mussels” stomachs to thew bloodstreams, scientists
found. and stayed there for weeks—but didn’t seem to stress
out the shellfish.

A lot of ocean debris 1s “microplastic.” or pieces smaller than
trve millimetres. These may be the beads from a facial scrub.
fibres shed by synthetic clothing in the wash. oreroded
remmants of larger debrnis. Compared to the number of studies
mvestigatmg large-scale debris. Rochman’s group found hittle
research on the effects of these tmy bits.

There are also. she adds. a lot of open questions about the
ways that ocean debris can lead to sea-creature death. Many
studies have looked at how plastic affects an mdividual
anmmal. or that animal’s tissues or cells. rather than whole
populations. And m the lab. scientists often use higher
concentrations of plastic than what’s really in the ocean.
None of that tells us how many birds or fish or sea turtles
could die from plastic pollution—or how deaths m one
species could affect that animal’s predators. or the rest of the
ecosysten.

“We need to be askmg more ecologically relevant questions.”
Rochman says. Usually. scientists don’t know how disasters
like oil spills or nuclear meltdowns will affect the
environment unfil after they've happened. she says. “We
don’t ask the right questions early enough.” But if ecologsts
can understand how the slow-moving disaster of ocean
garbage i1s affecting ecosystems. they might be able to
prevent things from getting worse.

SubQuestion No : 141

Q.1

a1 Select the option that describes the central theme

developed in the passage:

Ans Research has to only include studies on the effects

- of microplastic on ecology.

Ko
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Future ecological research on marine debris must
+ 2. understand the nature of ecological disaster and
prevent it.
, Current research on the impact of marine debris is
not defective.

~ Papers published up to 2013 employ proper
research methods.

4

Question ID : 9895801943
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the questions.

A new paper published by Rochiman and her colleagues in
February. m the journal Ecology. sifts through past research
on marme debris to assess the true extent of the
environmental threat. Plenty of studies have sounded alarm
bells about the state of marme debris: Rochman and her
colleagues set out to determimne how many of those percerved
risks are real.

Often. Rochman says. scientists will wrap up a paper by
speculatmg about the broader mpacts of what they’ve found.
Maybe therr study has shown that certam seabirds eat plastic
bags. for example. and the paper goes onto warn that whole
bird populations are at risk of dvmg out. - But the truth was
that nobody had yet tested those percerved threats.” Rochman
says. “There wasn’t a lot of mformation.”

Rochman and her colleagues exammed more than a hundred
papers on the mpacts of marine debris that were published
through 2013. Within each paper. they asked what threats
scientists had studied—366 percerved threats n all—and
what they’d actually found.

In 83 percent of cases. the perceved dangers of ocean trash
were proventrue. In most of the remaming cases. the
workmg group found the studies too shoddy to draw
conclusions from—they lacked a control group. for example.
or used faulty statistics.

Strikmgly. Rochman says. only one well-designed study
failed to find the effect it was lookmg for. an mvestigation of
mussels mgestmg microscopic plastic bits. The plastic moved
from the mussels’ stomachs to ther bloodstreams. scientists
found. and stayed there for weeks—but didn’t seem to stress
out the shellfish.

A lot of ocean debris 1s “microplastic.” or pieces smaller than
trve millimetres. These may be the beads from a facial scrub.
fibres shed by synthetic clothing in the wash. oreroded
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mvestigatmg large-scale debris. Rochman’s group found little
research on the effects of these tmy bits.

There are also. she adds. a lot of open questions about the
ways that ocean debris can lead to sea-creature death. Many
studies have looked at how plastic affects an mdividual
animmal. or that animal’s tissues or cells. rather than whole
populations. And in the lab. scientists often use higher
concentrations of plastic than what’s really m the ocean.
None of that tells us how many birds or fish or sea turtles
could die from plastic pollution—or how deaths m one
species could affect that animal’s predators. or the rest of the
ecosystem.

“We need to be asking more ecologically relevant questions.”
Rochman says. Usually. scientists don’t know how disasters
like oil spills or nuclear meltdowns will affect the
environment until after they ve happened. she says. “We
don’t ask the right questions early enough.” But if ecologists
can understand how the slow-moving disaster of ocean
garbage i1s affecting ecosystems. they might be able to
prevent things from getting worse,

SubQuestion No : 142

Q.1

ap What according to the author is the problem with

papers reporting seabirds eating plastic?
Ans X 1. These scientists do not ask ecologically relevant questions.
/< 2. The scientists use concentrated plastic to generate data.

We agree with the perceptions ofthe scientists but
X 3 £ P P
not their methods,

v Generalizations about whoele populations getting
- affected lack verifiable data.

Question ID : 9895801947
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the questions.

A new paper published by Rochman and her colleagues in
February. m the journal Ecology. sifts through past research
on marme debris to assess the true extent of the
environmental threat. Plenty of studies have sounded alarm
bells about the state of marme debris: Rochman and her
colleagues set out to determmne how many of those percerved
risks are real.

Often. Rochman says. scientists will wrap up a paper by
speculatmg about the broader mpacts of what they ve found.
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bags. for example. and the paper goes on to warn that whole
bird populations are at risk of dving out. “But the truth was
that nobody had yet tested those percerved threats.” Rochman
says. “There wasn’t a lot of mformation.”

Rochman and her colleagues examimed more than a hundred
papers on the mpacts of marme debris that were published
through 2013. Within each paper. they asked what threats
scientists had studied—366 percerved threats in all—and
what they’d actually found.

In 83 percent of cases. the percerved dangers of ocean trash
were proven true. In most of the remaming cases. the
workmg group found the studies too shoddy to draw
conclusions from—they lacked a control group. for example.
or used faulty statistics.

Strikingly. Rochman says. only one well-designed study
failed to find the effect it was lookmg for. an mvestigation of
mussels mgestmg microscopic plastic bits. The plastic moved
from the mussels” stomachs to thew bloodstreams, scientists
found. and stayed there for weeks—but didn’t seem to stress
out the shellfish.

A lot of ocean debris 1s “microplastic.” or pieces smaller than
trve mullimetres. These may be the beads from a facial scrub.
fibres shed by synthetic clothing in the wash. or eroded
remmnants of larger debris. Compared to the number of studies
mvestigatmg large-scale debris, Rochman’s group found little
research on the effects of these tmy bits.

There are also. she adds. a lot of open questions about the
ways that ocean debris can leadte sea-creature death. Many
studies have looked at how plastic affects an mdividual
animal. or that animal’s tissues.or cells, rather than whole
populations. And m the lab. scientists often use higher
concentrations of plastic than what’s really n the ocean.
None of that tells us how many birds or fish or sea turtles
could die from plastic pollution—or how deaths m one
species could affect that animal’s predators. or the rest of the
ecosysten.

“We need to be askmg more ecologically relevant questions.”
Rochman says. Usnally. scientists don’t know how disasters
like oil spills or nuclear meltdowns will affect the
environment until after they've happened. she says. “We
don’t ask the right questions early enough.” But if ecologsts
can understand how the slow-moving disaster of ocean
garbage i1s affecting ecosystems. they might be able to
prevent things from getting worse.

SubQuestion No : 143

Q.1
43
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Select the option to complete the statement below.

The perceived dangers of ocean trash for marine life
are, in a majority of cases

Ans 1. false
v 2 valid
/< 3. premature

/< 4 exaggerated

Question ID : 9895801945
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the questions.

A new paper published by Rochman and her colleagues in
February. m the journal Ecology. sifts through past research
on marine debris to assess the true extent of the
environmental threat. Plenty of studies have sounded alarm
bells about the state of marme debris: Rochman and her
colleagues set out to determme how many of thosepercerved
risks are real.

Often. Rochman says, scientists will wrap up a paper by
speculatmg about the broader mpacts of what they ve found.
Maybe therr study has shown that certam seabirds eat plastic
bags. for example, and the paper goes on to warn that whole
bird populations are at risk of dving out. “But the truth was
that nobody had vet tested those perceived threats.” Rochman
says. “There wasn’t a lot of mformation.”

Rochman and her colleagues exammed more than a hundred
papers on the mmpacts of marine debris that were published
through 2013. Within each paper. they asked what threats
scientists had studied—366 percerved threats in all—and
what they’dactually found.

In 83 percent of cases. the perceved dangers of ocean trash
were proven true. In most of the remaming cases, the
workmg group found the studies too shoddy to draw
conclusions from—they lacked a control group. for example.
or used faulty statistics.

Strikmgly. Rochman says. only one well-designed study
failed to find the effect it was lookmg for. an mvestigation of
mussels mgestmg microscopic plastic bits. The plastic moved
from the mussels’ stomachs to ther bloodstreams. scientists
found. and stayed there for weeks—but didn’t seem to stress
out the shellfish.

A lot of ocean debris 1s “microplastic.” or pieces smaller than
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tibres shed by synthetic clothmg m the wash. oreroded
remmants of larger debris. Compared to the number of studies
mvestigatmg large-scale debris, Rochman’s group found little
research on the effects of these tmy bits.

There are also. she adds. a lot of open questions about the
ways that ocean debris can lead to sea-creature death. Many
studies have looked at how plastic affects an mdividual
animmal. or that animal’s tissues or cells. rather than whole
populations. And i the lab. scientists often use higher
concentrations of plastic than what’s really m the ocean.
None of that tells us how many birds or fish or sea turtles
could die from plastic pollution—or how deaths m one
species could affect that animal’s predators. or the rest of the
ecosysten.

“We need to be askmg more ecologically relevant questions.”
Rochman says. Usnally. scientists don’t know how disasters
like oil spills or nuclear meltdowns will affect the
environment until after they’ve happened. she says. “We
don’t ask the right questions early enough.” But if ecologsts
can understand how the slow-moving disaster of ocean
garbage is affecting ecosystems. they might be able to
prevent things from getting worse.

SubQuestion No : 144

Q! Which ONE of the following conclusions based on
the examination of the hundred-odd papers on
marine debris and its ecological impact by

Rochman and her colleagues is NOT CORRECT?

Ko

Ans Issues with the focus. seope and findings of

previous research inform future studies.

More than fifty pereent of the past ecological
« 2 studies failed to pereeive the threats posed by
marine debris.

Researchers tend to overgeneralize while discussing
the implications of their findings.

X 3

That ocean garbage endangers ecosystems has not

s been fully understood.

Question ID : 9895801944
Status : Not Answered
Chosen Option : --

Q.1 Identify the segment in the sentence which contains the grammatical error.
45

Lupin is one of the least important person in the opposition and can never hope to become a minister.

Ans X' 1. become

/< 2. in the opposition
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< 3. can never

« 4 least important person

Question ID : 9895801855
Status : Answered
Chosen Option : 4

Q.1 Select the correct direct form of the given sentence.
46

Maria complained that though there were many shopping centers in Dubai, they were all expensive.

Ans Xy

Maria said, “The many shopping centers that are there in Dubai. but they are all expensive.”

X2

Maria said, “There were many shopping centers in Dubai, but they are all expensive.”

X 3

Maria said, “There have been many shopping centers in Dubai, but they are expensive.”

v o

Maria said, “Though there are many shopping centers in Dubai, they are all expensive.”

Question ID : 9895801881
Status : Answered
Chosen Option : 4

Comprehension:
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Read the following passage and answer the questions.

As a toddler growmg up in the 1950s. Richard Wawro threw
violent tantrums. Often. he would tap the same piano key for
long stretches of time. When he was three. his parents took
hmm for testing at a nearby hospital. They were told that he
was moderately to severely retarded. His family. however.
never believed that his IQ was as low as the experts claimed.
A special education teacher began working with Richard
when he was six. She mtroduced him to drawing with
crayons. which he took to quickly. He began filling
sketchbooks (and the wallpaper of his Scotland home) with
startlingly accurate depictions of cartoon characters like Yog
Bear. When Richard was 12. his artwork astounded a visiting
artist who said that his drawmgs were created “with the
precision of a mechanic and the vision of a poet.”

Richard could never read or write well. His speech remamed
limited. But his mvolvement with the art world spurred his
social development. He participated m dozens of exlubitions
and became a well-known artist. His artwork was celebrated
by the media and in a documentary. “With Eyes Wide Open.”
Both Margaret Thatcher and Pope John Paul IT owned
Wawro’s origmals.

Richard was a savant. an mdividual with a spike in a
particular ability combmed with an imparment or disability.
In Richard’s case, that underlymg condition was autism.
Autism is a condition characterized by social and
communication challenges. hke difficulty makmg eve contact
or makmg conversation. along with-repetitrve behaviors or
ntense interests. It turns out that many savants have autism.
But when the astoundingabilities are there. they are often
rooted m extreme memory, excellent attention to detail and
passionate mterests — traits also inked to autism. In many
ways. prodigies look a lot like savants. They have the same
preternatural abilities. They have the same prolific output.
But there’'s akey difference between the two. While m
savants, these extreme abilities are pamred with an underlymg
impairment or disability. prodigies don’t typically have any
such disability. Even though prodigies are not typically
autistic. they have the same excellent memories. extreme

attention to detail, and passionate mterests linked to autism
and autistic savants.

SubQuestion No : 147

%) Which ONE of the following statements about
Richard is FALSE?

Ans 1. Richard was communicatively challenged.
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/< 2. Richard received special education.

+ 3 Richard was an illiterate.
/< 4. Richard was a renowned artist.

Question ID : 9895801957
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the following passage and answer the questions.

As a toddler growmg up in the 1950s. Richard Wawro threw
violent tantrums. Often. he would tap the same piano key for
long stretches of time. When he was three. his parents took
hmm for testing at a nearby hospital. They were told that he
was moderately to severely retarded. His family. however.
never believed that his IQ was as low as the experts claimed.
A special education teacher began working with Richard
when he was six. She mtroduced him to drawing with
crayons. which he took to quickly. He began filling
sketchbooks (and the wallpaper of his Scotland home) with
starthngly accurate depictions of cartoon characters like Yog
Bear. When Richard was 12. his artwork astounded a visiting
artist who said that his drawmgs were created “with the
precision of a mechanic and the vision of a poet.”

Richard could never read or write well. His speech remamed
limited. But his mvolvement with the art world spurred his
social development. He participated m dozens of exlubitions
and became a well-known artist. His artwork was celebrated
by the media and in a documentary. “With Eyes Wide Open.”
Both Margaret Thatcher and Pope John Paul IT owned
Wawro’s origmals.

Richard was a savant. an mdividual with a spike in a
particular ability combmed with an impamment or disability.
In Richard’s case. that underlymg condition was autism.
Autism is a condition characterized by social and
communication challenges. hke difficulty makmg eve contact
or makmg conversation. along with-repetitrve behaviors or
ntense interests. It turns out that many savants have autism.
But when the astoundingabilities are there. they are often
rooted m extreme memory, excellent attention to detail and
passionate mterests — traits also inked to autism. In many
ways. prodigies look a lot like savants. They have the same
preternatural abilities. They have the same prolific output.
But there’'s akey difference between the two. While m
savants, these extreme abilities are pamed with an underlymg
impairment or disability. prodigies don’t typically have any
such disability. Even though prodigies are not typically
autistic. they have the same excellent memories. extreme

attention to detail, and passionate mterests linked to autism
and autistic savants.

SubQuestion No : 148

Q7 Which ONE of the statements given as options is TRUE?

Ans All savants have no disabilities while all prodigies

suffer from some (or other) disability.

. R
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v? All savants suffer from certain disabilities while all
- prodigies suffer from none.

X 3 Some savants have no disabilities while some
- prodigies might suffer from a disability.

X 4 Some savants have some (or other) disabilities
- while all prodigies suffer none.

Question ID : 9895801956
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the following passage and answer the questions.

As a toddler growmg up in the 1950s. Richard Wawro threw
violent tantrums. Often. he would tap the same piano key for
long stretches of time. When he was three. his parents took
hmm for testing at a nearby hospital. They were told that he
was moderately to severely retarded. His family. however.
never believed that his IQ was as low as the experts claimed.
A special education teacher began working with Richard
when he was six. She mtroduced him to drawing with
crayons. which he took to quickly. He began filling
sketchbooks (and the wallpaper of his Scotland home) with
startlingly accurate depictions of cartoon characters like Yog
Bear. When Richard was 12. his artwork astounded a visiting
artist who said that his drawmgs were created “with the
precision of a mechanic and the vision of a poet.”

Richard could never read or write well. His speech remamed
limited. But his mvolvement with the art world spurred his
social development. He participated m dozens of exlubitions
and became a well-known artist. His artwork was celebrated
by the media and in a documentary. “With Eyes Wide Open.”
Both Margaret Thatcher and Pope John Paul IT owned
Wawro’s origmals.

Richard was a savant. an mdividual with a spike in a
particular ability combmed with an imparment or disability.
In Richard’s case. that underlymg condition was autism.
Autism is a condition characterized by social and
communication challenges. hke difficulty makmg eve contact
or makmg conversation. along with-repetitrve behaviors or
ntense interests. It turns out that many savants have autism.
But when the astoundingabilities are there. they are often
rooted m extreme memory, excellent attention to detail and
passionate mterests — traits also inked to autism. In many
ways. prodigies look a lot like savants. They have the same
preternatural abilities. They have the same prolific output.
But there’'s akey difference between the two. While m
savants, these extreme abilities are pamred with an underlymg
impairment or disability. prodigies don’t typically have any
such disability. Even though prodigies are not typically
autistic. they have the same excellent memories. extreme

attention to detail, and passionate mterests linked to autism
and autistic savants.

SubQuestion No : 149
¢, Which ONE of the options makes the meaning of
‘savant’ as it emerges in the passage clear?

Ans o , an autistic who exhibits exceptional skill or

* brilliance in all fields
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a person of learning, especially one with detailed
knowledge in some specialized field

X2
V3 an autistic with preternatural abilities, exhibiting
- exceptional skill or brilliance in a special field

X 4 A0 autistic who exhibits exceptional skill or
brilliance in some limited field

Question ID : 9895801958
Status : Not Answered
Chosen Option : --

Comprehension:

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

Read the following passage and answer the questions.

As a toddler growmg up in the 1950s. Richard Wawro threw
violent tantrums. Often. he would tap the same piano key for
long stretches of time. When he was three. his parents took
hmm for testing at a nearby hospital. They were told that he
was moderately to severely retarded. His family. however.
never believed that his IQ was as low as the experts claimed.
A special education teacher began working with Richard
when he was six. She mtroduced him to drawing with
crayons. which he took to quickly. He began filling
sketchbooks (and the wallpaper of his Scotland home) with
starthngly accurate depictions of cartoon characters like Yog
Bear. When Richard was 12. his artwork astounded a visiting
artist who said that his drawmgs were created “with the
precision of a mechanic and the vision of a poet.”

Richard could never read or write well. His speech remamed
limited. But his mvolvement with the art world spurred his
social development. He participated m dozens of exlubitions
and became a well-known artist. His artwork was celebrated
by the media and in a documentary. “With Eyes Wide Open.”
Both Margaret Thatcher and Pope John Paul IT owned
Wawro’s origmals.

Richard was a savant. an mdividual with a spike in a
particular ability combmed with an impamment or disability.
In Richard’s case. that underlymg condition was autism.
Autism is a condition characterized by social and
communication challenges. hke difficulty makmg eve contact
or makmg conversation. along with-repetitrve behaviors or
ntense interests. It turns out that many savants have autism.
But when the astoundingabilities are there. they are often
rooted m extreme memory, excellent attention to detail and
passionate mterests — traits also inked to autism. In many
ways. prodigies look a lot like savants. They have the same
preternatural abilities. They have the same prolific output.
But there’'s akey difference between the two. While m
savants, these extreme abilities are pamred with an underlymg
impairment or disability. prodigies don’t typically have any
such disability. Even though prodigies are not typically
autistic. they have the same excellent memories. extreme

attention to detail, and passionate mterests linked to autism
and autistic savants.

SubQuestion No : 150

%‘J ‘lWhy fioes tille author _br:mg in the topic of prodigies
in a discussion of autistic savants?
Ans
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Because comparing abilities of both prodigies and
« . autistic savants would help us appreciate the
capabilities of the latter.

X 2 Because it would reorient people who treat autisn
- with contempt

< 3. Because he sees the two as related to the same topic.

Because their abilities are often rooted in extreme
#< 4 memory, excellent attention to detail and
passionate interests

Question ID : 9895801955
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the following passage and answer the questions.

As a toddler growmg up in the 1950s. Richard Wawro threw
violent tantrums. Often. he would tap the same piano key for
long stretches of time. When he was three. his parents took
hmm for testing at a nearby hospital. They were told that he
was moderately to severely retarded. His family. however.
never believed that his IQ was as low as the experts claimed.
A special education teacher began working with Richard
when he was six. She mtroduced him to drawing with
crayons. which he took to quickly. He began filling
sketchbooks (and the wallpaper of his Scotland home) with
startlingly accurate depictions of cartoon characters like Yog
Bear. When Richard was 12. his artwork astounded a visiting
artist who said that his drawmgs were created “with the
precision of a mechanic and the vision of a poet.”

Richard could never read or write well. His speech remamed
limited. But his mvolvement with the art world spurred his
social development. He participated m dozens of exlubitions
and became a well-known artist. His artwork was celebrated
by the media and in a documentary. “With Eyes Wide Open.”
Both Margaret Thatcher and Pope John Paul IT owned
Wawro’s origmals.

Richard was a savant. an mdividual with a spike in a
particular ability combmed with an imparment or disability.
In Richard’s case. that underlymg condition was autism.
Autism is a condition characterized by social and
communication challenges. hke difficulty makmg eve contact
or makmg conversation. along with-repetitrve behaviors or
ntense interests. It turns out that many savants have autism.
But when the astoundingabilities are there. they are often
rooted m extreme memory, excellent attention to detail and
passionate mterests — traits also inked to autism. In many
ways. prodigies look a lot like savants. They have the same
preternatural abilities. They have the same prolific output.
But there’'s akey difference between the two. While m
savants, these extreme abilities are pamred with an underlymg
impairment or disability. prodigies don’t typically have any
such disability. Even though prodigies are not typically
autistic. they have the same excellent memories. extreme

attention to detail, and passionate mterests linked to autism
and autistic savants.

SubQuestion No : 151

%-11 Which ONE of the statements sums up what the
passage is about?

Ans
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The case of Richard. a savant, illustrates the
/< 1. discovery that the dividing line between a prodigy
and a savant is just the presence of a disability.

Rather than conclude that autistic patients have
/< 2. limited IQ. we must make the effort to discover the
special ability each autistic patient has.

Kids with autism, if encouraged, could turn out to
+ 2 be a savant as they share a range of extraordinary
abilities with prodigies.

When the instance of an autistic is examined
/< 4. closely, it is found that some diagnosed as autistic
might be a savant with a *spiked’ extra-ordinary ability.

Question ID : 9895801959
Status : Not Answered

Chosen Option : --
=
Q.1 Select the most appropriate option to fill in the blank.
52
Napping can do as much to improve someone’s as a balanced diet and exercise can.

Ans X 1. knowledge
/< 2. familiarity
W 3. efficiency
/%< 4. deficiency

Question ID : 9895801896
Status : Answered
Chosen Option : 3

Q.1 Given below are four sentences, three of Which, are jumbled. Pick the option that gives the correct order.
53

A. It is impossible to know all the rules of any language.
B. It takes both time and patience.
C. Advertisements that claimito teach a language in 60 days are all lies.
D. Learning a langnage isa life-long job.
Ans X' 1. ACBD
X 2 ABCD
X 3. ADCB

' 4 ADBC

Question ID : 9895801924
Status : Not Answered
Chosen Option : --

Q.1 Select the alternative that will improve the underlined part of the sentence; if no improvement is required, select
54 *No improvement™.

“We need a cardigan. Are you able to knit?"

Ans X 1. No improvement
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< 2. Are you knitting?
/< 3. Will vou be able to knit?
« 4 Can vou knit one?

Question ID : 9895801885
Status : Answered
Chosen Option : 4

Comprehension:

Read the following passage and answer the questions.

Where is this going?” Thatis the question at the heart of
River of Life, River of Death. as author Victor Mallet travels
the length of the Ganges. Begnning at its ice cave source in
the Himalayan foothills. he follows the water through the
holy confluence at Allahabad. the spmdly banks of Varanasi
city and onwards to the delta m Bangladesh. where “in its
parting gft to the land. the river spews millions of tons of
fertile silt on to the rice fields of Bengal and the mangroves
of the Sundarbans.”

It is the same question he asks about the treatment of the
Ganges. both good and bad. The river leads a double life,
bemg the most worshipped waterway m the world and also
one of the most polluted. The Ganges and ifs fributaries are

now subject to sewage pollution that 1s “half a million times
over the Indian recommended hmit for bathing™ m places. not
to mention the unchecked mmoif fromheavy metals,
fertilizers. carcinogens and the occasional corpse.

As Mallet observes. the danger of contammation does not put
off the millions of revellers at Kumbh Mela. It 1s a Hindu
pilgrimage ‘thought to be the largest gathering of people
anywhere’. described to him as ‘a spwitual expo... where you
will be talking one moment to a visitmg Mumbai
businessman and the next to a marijuana-stoned yog’. He
suggests the pollution might never deter them. He 1s told by
one bather: *we do believe that anyone who takes i this
water. he becomes pure also. because 1t is always pure.”
There is a collective sense that the spuit of the Ganges is so
sacred that she can never be spoiled.

He mforms the reader m the preface — ‘almost everyone
knows the problems are real’. His journey down the Ganges
1s one of investigation rather than discovery. Mallet
mvestigates the potential of the river to become a cradle for
antibiotic-resistant mfections — or “superbugs’ — that could be
exported to other regions by global travel He pomts out that
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some 450 milhon people depend on the Ganges water basin
for survival. and many more for its religious and cultural
mportance. The Ganges is a goddess and a mother to
everyone from the politician m the north. to the humblest
Hindu living m the far south or runnmng a motel m the United
States.

There is hope. Mallet draws some parallels to clean-ups of
the Rhine and the Thames. He pomts to the design feat of
Kumbh Mela. which as ‘a pop-up megacity” tor two million
pilgrims has better nfrastructure and waste treatment than
many Indian cities. “In the minds of both Indians and
foreigners. this raises mportant questions. .. if the authorities
can build mfrastructure so efficiently for this short but very
large festival. why can they not do the same for permanent
villages and towns?”

SubQuestion No : 155

%2 Which ONE of the options fills in the blank and
completes the statement below correctly?

The Ganges is a mother to the devout Hindu;
however, it is to the non-Hindu Indian and

Ans 3¢ 1. a spectacle; locus for the Khumb Melas
/< 2. a source of water; a garbage bin
/< 3. an interesting tourist spot; a zone for adventure sports

« 4 acultural icon: provider.of life

Question ID : 9895801951
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the questions.

Where is this gomg?’ Thatis the question at the heart of
River of Life, River of Death. as author Victor Mallet travels
the length of the Ganges. Begmning at its ice cave source in
the Himalayan foothills. he follows the water through the
holy contluence at Allahabad. the spmdly banks of Varanasi
city and onwards to the delta m Bangladesh. where “in its
parting gift to the land. the river spews millions of tons of
tertile silt on to the rice fields of Bengal and the mangroves
of the Sundarbans.”

It is the same question he asks about the treatment of the

(ranoceg I"‘n"‘l‘t]'l 'Clﬁﬂi"] El'l'll"l I'm.rl T-hl::' T"i"i'F"T' 1Pﬂ:":|'-1 a flﬁ! 'I.I"I-IFlI I"i:F-F‘*
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being the most worshipped waterway m the world and also
one of the most polluted. The Ganges and its tributaries are

now subject to sewage pollution that is “half a million times
over the Indian recommended hnut for bathmg™ m places. not
to mention the unchecked rmnoff from heavy metals,
fertilizers. carcinogens and the occasional corpse.

As Mallet observes. the danger of contammation does not put
off the millions of revellers at Kumbh Mela. It 1s a Hindu
pilgrimage ‘thought to be the largest gathering of people
anywhere’. described to hum as ‘a spwitual expo... where you
will be talking one moment to a visitmg Mumbai
busmessman and the next to a marjuana-stoned yog’. He
suggests the pollution might never deter them. He is told by
one bather: *“we do believe that anyone who takes i this
water. he becomes pure also. because 1t is always pure.”
There is a collective sense that the spuit of the Ganges 1s so
sacred that she can never be spoiled.

He mforms the reader m the preface — ‘almost everyone
knows the problems are real’. His journey down the Ganges
1s one of investigation rather than discovery. Mallet
mvestigates the potential of the river to becomea cradle for
antibiotic-resistant mfections — or “superbugs’ — that could be
exported to other regions by global travel He pomts out that
some 450 milhon people depend on the Ganges water basm
tor survival, and many more for its religions and cultural
mportance. The Ganges is a goddess and a mother to
everyone from the politician m-the north. to the humblest
Hindu living m the far south or running a motel m the United
States.

There is hope. Mallet draws some parallels to clean-ups of
the Rhine and the Thames. He pomts to the design feat of
Kumbh Mela. which as ‘a pop-up megacity” tor two million
pilgrims has better infrastructure and waste treatment than
many Indian cities. “In the minds of both Indians and
foreigners. this raises mportant questions. .. if the authorities
can build mfrastructure so efficiently for this short but very
large festival. why can they not do the same for permanent
villages and towns?’

SubQuestion No : 156

052 Which ONE of the statements below is FALSE?

Ans Victor Mallet asks the question “Where is it going?’
/< 1. of the river Ganges which has a metaphorical
relevance too.
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, Aclean River Ganges is as feasible as a clean River
Thames or River Rhine
V3 The Ganges carries superbugs and it is a problem
all Indians are aware of.

The Kumbh Mela is a witness not only to the
/X 4. devotion of a section of Indians but also their skills
of crowd management.

Question ID : 9895801953
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the questions.

Where is this going?” That 1s the question at the heart of
River of Life, River of Death. as author Victor Mallet travels
the length of the Ganges. Begmning at its ice cave source in
the Humalayan foothills. he follows the water through the
holy confluence at Allahabad. the spmdly banks of Varanasi
city and onwards to the delta m Bangladesh. where “m its
parting gft to the land. the river spews milhions of tons of
fertile silt on to the rice fields of Bengal and the mangroves
of the Sundarbans.’

It is the same question he asks about the treatment of the
Ganges. both good and bad. The riverleads a double life.
bemg the most worshipped waterway m the world and also
one of the most polluted. The Ganges and its fributaries are

now subject to sewage pollution that 1s *half a nullion times
over the Indian recommended limit for bathing” mn places. not
to mention the uncheckedmunoff from heavy metals.
fertilizers. carcinogens and the occasional corpse.

As Mallet observes. the danger of contamination does not put
off the nullions of revellers at Kumbh Mela. It 1s a Hmdu
pilgrimage ‘thought to be the largest gathering of people
anywhere’. described to him as ‘a spwitual expo... where you
will be talking one moment to a visitmg Mumbai
businessman and the next to a marijuana-stoned vog’. He
suggests the pollution might never deter them. He is told by
one bather: “we do believe that anyone who takes i this
water. he becomes pure also. because 1t 1s always pure.’
There is a collective sense that the spirit of the Ganges is so
sacred that she can neverbe spoiled.

He nforms the reader n the preface — ‘almost everyone
knows the problems are real’. His journey down the Ganges

ir e mE dsmrrastirentimes eathhioae Hhones disamrcaes s WAL+

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

Iy ULLIT L LY Cbllétlllull LolllI] LLECTRL RRESL AP Y TR .}- » AVICILICL
mvestigates the potential of the river to become a cradle for
antibiotic-resistant mfections — or ‘superbugs’ — that could be
exported to other regions by global travel He pomts out that
some 450 milhon people depend on the Ganges water basin
for survival. and many more for its religious and cultural
mportance. The Ganges is a goddess and a mother to
everyone from the politician m the north. to the humblest
Hindu living m the far south or running a motel m the United
States.

There is hope. Mallet draws some parallels to clean-ups of
the Rhine and the Thames. He pomts to the design feat of
Kumbh Mela, which as ‘a pop-up megacity” tor two million
pilgrims has better infrastructure and waste treatment than
many Indian cities. ‘In the minds of both Indians and
toreigners. this raises mportant questions. .. if the authorities
can build mfrastructure so efficiently for this short but very
large festival. why can they not do the same for permanent
villages and towns?’

SubQuestion No : 157

%) Which ONE of the options faithfully sums up the
main ideas of the passage?

Ans X1 The Ganges is a holy river for Hindus who venerate
 it, live off it but also pollute it.

The river Ganges is a river that-gives life and hope
/< 2. to all but it is a pity that its abusers are not aware
that they are pushing it to its extinction.

The Ganges is multifaceted personality — venerated
/< 3. as a mother, it tolerates as a mother all the
pollutants thrown into it.

An objective assessment of the river Ganges, life-
v giving and death-threatening, fosters not only faith
- but alse.hope among its admirers of its redemption
in future.

Question ID : 9895801952
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the questions.

Where is this gomg?’ Thatis the question at the heart of
River of Life, River of Death. as author Victor Mallet travels
the length of the Ganges. Begmning at its ice cave source in
the Himalayan foothills. he follows the water through the
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holy contlience at Allahabad. the spmdly banks ot Varanasi
city and onwards to the delta m Bangladesh. where “m its
parting gft to the land. the river spews millions of tons of
fertile silt on to the rice fields of Bengal and the mangroves
of the Sundarbans.”

It is the same question he asks about the treatment of the
Ganges. both good and bad. The river leads a double life.
being the most worshipped waterway m the world and also
one of the most polluted. The Ganges and ifs tributaries are

now subject to sewage pollution that 1s *half a nillion times
over the Indian recommended hmit for bathing” mn places. not
to mention the unchecked runoff from heavy metals.
fertilizers. carcinogens and the occasional corpse.

As Mallet observes. the danger of contammation does not put
off the millions of revellers at Kumbh Mela. It 1s a Hindu
pilgrimage ‘thought to be the largest gathering of people
anywhere’. described to him as ‘a spmitual expo... where you
will be talking one moment to a visitmg Mumbai
businessman and the next to a marijuana-stoned yog’. He
suggests the pollution mught never deter them. He is told by
one bather: *we do beleve that anyone who takes in this
water. he becomes pure also. because 1t is always pure.’
There is a collective sense that the spirit of the Ganges is so
sacred that she can never be spoiled.

He mforms the reader m the preface —"almost everyone
knows the problems are real”. His journey down the Ganges
1s one of investigation rather than discovery. Mallet
mvestigates the potential of the siver to become a cradle for
antibiotic-resistant mfections — or ‘superbugs’ — that could be
exported to other regions by global travel He pomts out that
some 450 million people depend on the Ganges water basin
for survival, and many more for its religious and cultural
mportance.The Ganges is a goddess and a mother to
everyone from the politician m the north. to the humblest
Hmdu living m the far south or running a motel m the United
States.

There is hope. Mallet draws some parallels to clean-ups of
the Rhine and the Thames. He pomts to the design feat of
Kumbh Mela. which as ‘a pop-up megacity” tor two million
pilgrims has better mfrastructure and waste treatment than
many Indian cities. *In the minds of both Indians and
foreigners. this raises mportant questions. .. if the authorities
can build mfrastructure so efficiently for this short but very
large festival. why can they not do the same for permanent
villages and towns?’
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SubQuestion No : 158

2. Which ONE of the options fills in the blank and
completes the statement below correctly?

The average believer is of the faith-driven
conviction that the river Ganges

#< 1. shall never be the object of an investigation
/< 2. may never die due to pollution

7< 3. will never infect the believer

« 4 can never be spoiled

Question ID : 9895801949
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the questions.

Where is this going?” That is the question at the heart of
River of Life, River of Death. as author Victor Mallet travels
the length of the Ganges. Begnning at its ice cave source in
the Himalayan foothills. he follows the waterthrough the
holy confluence at Allahabad. the spmdly baiks of Varanasi
city and onwards to the delta m Bangladesh. where ‘i its
parting gft to the land. the river spews millions of tons of
fertile silt on to the rice fields of Bengal and the mangroves
of the Sundarbans.”

It is the same question he asks about the treatment of the
Ganges. both good and bad. The river leads a double life,
beimng the most worshipped waterway m the world and also
one of the most polluted. The Ganges and ifs tributaries are

now subject tosewage pollution that is “half a million times
over the Indian recommended hnut for bathmg™ m places. not
to mention the unchecked rmnoff from heavy metals,
fertilizers. carcinogens and the occasional corpse.

As Mallet observes. the danger of contammation does not put
off the millions of revellers at Kumbh Mela. It 1s a Hindu
pilgrimage ‘thought to be the largest gathering of people
anywhere’. described to hum as ‘a spwitual expo... where you
will be talking one moment to a visitmg Mumbai
businessman and the next to a marijuana-stoned yog’. He
suggests the pollution might never deter them. He 1s told by
one bather: *“we do believe that anyone who takes n this
water. he becomes pure also. becauae it is always pme
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LLETE 1S d COUSCHIVE SELISE LAl LIE SPILL 01 ULE JAIges 1S S0
sacred that she can never be spoiled.

He mforms the reader m the preface — ‘almost everyone
knows the problems are real”. His journey down the Ganges
1s one of investigation rather than discovery. Mallet
mvestigates the potential of the river to become a cradle for
antibiotic-resistant mfections — or “superbugs’ — that could be
exported to other regions by global travel He pomts out that
some 450 milhon people depend on the Ganges water basin
for survival. and many more for its religious and cultural
mportance. The Ganges is a goddess and a mother to
everyone from the politician m the north. to the humblest
Hindu living m the far south or runnmng a motel m the United
States.

There is hope. Mallet draws some parallels to clean-ups of
the Rhine and the Thames. He pomts to the design feat of
Kumbh Mela. which as ‘a pop-up megacity” tor two million
pilgrims has better infrastructure and waste treatment than
many Indian cities. “In the minds of both Indians and
foreigners. this raises mportant questions. .. if the authorities
can build mfrastructure so efficiently for this short but very
large festival. why can they not do the same for permanent
villages and towns?”

SubQuestion No : 159

%, Which ONE of the options fills in the blank and
completes the statement below correctly?

The river Ganges is “the most worshipped
waterway in the world and also one of the most
polluted™ This brings to light, in reality, :

Ans  of 1. the contrarian nature of the average Indian
#< 2. the democratic space it provides to the CEO and the Yogi
/< 3. the dangers of bathing in the river at any place
#< 4. the double life that the river leads

Question ID : 9895801950
Status : Not Answered
Chosen Option : --

%‘J Select the most appropriate antonym of the given word.

KNOWLEDGE

Ans o 1. ignorance

/< 2. goodness
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/< 3. eccentricity
/< 4 illiteracy

Question ID : 9895801935
Status : Answered
Chosen Option : 4

%-11 Select the correct indirect form of the given sentence.

ek

Mary asked her husband, “Why have you been avoiding me since yesterday?

Ans Xy

Mary wanted to know from her husband the reason he is avoiding her since the previous day.

X2

Mary questioned her husband as to why he has been avoiding her since the previous day.

v &)

Mary wanted to know from her husband as to why he had been avoiding her since the previous day.

X a

Mary asked her husband as to why he had been avoiding her since vesterday.

Question ID : 9895801877
Status : Answered
Chosen Option : 3

Q.1 Select the alternative that will improve the underlined part of the sentence: if no improvement is required, select
62 ‘No improvement”.

After my graduation, my uncle suggested to me to get a job in a bank.

Ans % 1. suggested to me getting a job
+ 2 No improvement
/< 3. suggested me getting a job
/< 4. suggests me to get a job

Question ID : 9895801894
Status : Answered
Chosen Option : 1

==

Q.1 select the correct passive form of the given sentence.

63
Innovators who are furthering the beneficent uses of advanced AT should avoid scenarios where a machine ‘takes over’.

Ans {1.

Scenarios where a machine ‘takes over' should be avoided by innovators who are furthering the beneficent uses of
advanced AL

X 2

Scenarios where a machine “takes over” should have been avoided by innovators who further the beneficent uses of
advanced AL

X 3

Scenarios where a machine ‘is taken over’ shall be avoided by innovators who are furthering the beneficent uses of
advanced AL

54

Scenarios where ‘taken over’ by a machine should be avoided by innovators who have been furthering the beneficent
uses of advanced AL

[ Question ID : 9895801867 ]
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Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate option to fill in the blank.

64
Space exploration demands human qualities: for astronauts, great bravery, but for everyone, ingenuity,
imagination. discipline. and even a sort of altruism.

Ans  of 1. extraordinary
X 2 weird
< 3. normal
X 4. common

Question ID : 9895801899
Status : Answered
Chosen Option : 1

Q.1 Select the alternative that will improve the underlined part of the sentence: if no improvement is required, select
65 ‘No improvement”.

Lagreed to meet him at the cafeteria at 9.00.
Ans X 1. I agreed meeting him

/< 2. I agreed to have met him
7< 3. I agreed meet him

+ 4 No improvement

Question ID : 9895801886
Status : Answered
Chosen Option : 1

Q.1 Select the alternative that will improve the underlined part of the senfence: if no improvement is required, select
66 ‘No improvement”.

I liked the violin but found it rather expensive to buy.
Ans 1. found it so expensive to buy

+ 2 No improvement
/< 3. found it hardly expensive to buy

/< 4 found.it somewhere expensive to buy

Question ID : 9895801888
Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate option to fill in the blank.

67
Scientists have said that understanding past changes in ocean heat was for predicting the future impact of
climate change.

Ans X 1. circular
/< 2. cvnical
W 3 critical
/< 4 cyclical

Downloaded from - www.exammix.com



Visit - www.exammix.com & Download :- Railway (RRB JE, NTPC, ALP, GROUP-D) & SSC (JE, GD, CHSL, CPO, CGL) Question Papers

Question ID : 9895801895
Status : Not Answered
Chosen Option : --

Q.1 Given below are four sentences, three of which, are jumbled. Pick the option that gives the correct order.
68

A. My brother was looking forward to his first Metro ride.

B. But he is the kind of person who never listens to any advice.

C. He had heard a great deal about it from his friends in Delhi.

D. They all told him not to travel alone the first time.

Ans  of 1. ACDB
< 2. ABDC
X 3. ACBD
< 4 ADBC

Question ID : 9895801923
Status : Not Answered
Chosen Option : --

%91 Select the correct passive form of the given sentence.

Are liberals and populists just searching for a new master?

Ans X 1. Is a new master searching for liberals and populists?

X2
Are liberals and populists being searched for by-a new master?

p

Was a new master being searched for by liberals and populists?

v

Is a new master being searched for by liberals and populists?

Question ID : 9895801868
Status : Answered
Chosen Option : 4

Q.1 Select the alternative that will.improve the underlined part of the sentence; if no improvement is required, select
70 “No improvement”.

Have you got good teachers when vou were at school?
Ans X 1. Hasn’t you got
+ 2. Did vou have
/< 3. Haven’t you got

/< 4. No improvement

Question ID : 9895801889
Status : Answered
Chosen Option : 2

Q.1
71
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Select the most appropriate antonym of the given word.

DISPARATE

Ans 1. collected
X 2. indifferent
v 3. similar
< 4 calm

Question ID : 9895801933
Status : Marked For Review
Chosen Option : 4

Q.1 ’ i i i % .
5, Select the most appropriate meaning of the idiom given below:

Take with a pinch of salt
Ans 1. not eat something until you add salt to it
/< 2. completely disbelieve anything that you are told
/< 3. immediately accept something that is not salted

+ 4. not believe completely something that you are told

Question ID : 9895801938
Status : Answered
Chosen Option : 4

Q.1 Select the alternative that will improve the underlined part of the sentence: if no improvement is required, select
73 “No improvement”.

*“We have so many to do, and so little time.”

Ans X 1. such many

/< 2. No improvement

' 3. so much

/< 4 as much

Question ID : 9895801892
Status : Answered
Chosen Option : 4

Q1 Select the most appropriate antonym of the given word.

74
COMPREHENSIVE
Ans o 1. restricted
/< 2. pleasant

/< 3. enjoyable
< 4 enclosed

Question ID : 9895801936
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Status : Answered
Chosen Option: 3

Q.1

25 Select the most appropriate meaning of the idiom given below:

Barking up the wrong tree

Ans 3¢ 1. misunderstanding the origin of a problem
/< 2. unable to guess the right type of tree
/< 3. creating a problem by teasing dogs

o 4 chasing a false trail

Question ID : 9895801940
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred years ago, the treadmill was invented in England.as a

prison rehabilitation device. It was meant to cause the

(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer

raised in a family of millwrights, created the treadmill—which was

also called a treadwheel in the early days—in 1818: Cubitt’s early

attempts at the treadmill’s (3) took many forms,
including two wheels vou walked on. whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in Iondon, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8), standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so eenvicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 176

Q.1
76

Ans X 1. internalized
#< 2. inculcated
+ 3. incarcerated
« 4 intimidated

Select the most appropriate option to fill blank no 1.

Question ID : 9895801912
Status : Not Answered
Chosen Option : --
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Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred years ago, the treadmill was invented in England as a
prison rehabilitation device. It was meant to cause the
(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer
raised in a family of millwrights, created the treadmill—which was
also called a treadwheel in the early days—in 1818. Cubiit’s early

attempts at the treadmill’s (3) took many forms,
including two wheels vou walked on. whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in I ondon, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8), standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 177

Q1 Select the most appropriate option to fill blank no 2.

77

Ans 1. Pipe
/< 2. Tap
< 3. Save
o 4 Pump

Question ID : 9895801913
Status : Marked For Review
Chosen Option: 1

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred vears ago, the treadmill was invented in England as a
prison rehabilitation device. It was meant to cause the
(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer
raised in a family of millwrights, created the treadmill—which was
also called a treadwheel in the early days—in 1818. Cubitt’s early

attempts at the treadmill’s (3) took many forms,
including two wheels you walked on, whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in Iondon, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8), standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 178

Q1 Select the most appropriate option to fill blank no 3:

78

Ans 1. proposal
W 2 design
/< 3. strategy
< 4 decline

Question ID : 9895801914
Status : Answered
Chosen Option : 1

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred vears ago, the treadmill was invented in England as a
prison rehabilitation device. It was meant to cause the
(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer
raised in a family of millwrights, created the treadmill—which was
also called a treadwheel in the early days—in 1818. Cubitt’s early

attempts at the treadmill’s (3) took many forms,
including two wheels you walked on. whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in Iondon, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8), standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 179

Q1 Select the most appropriate option to fill blank no 4

79
Ans  of 1. version
< 2 type

/< 3. hoax

/< 4. process

Question ID : 9895801915
Status : Answered
Chosen Option : 2

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred years ago, the treadmill was invented in England as a
prison rehabilitation device. It was meant to cause the
(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer
raised in a family of millwrights, created the treadmill—which was
also called a treadwheel in the early days—in 1818. Cubitt’s early

attempts at the tfreadmill’s (3) took many forms,
including two wheels you walked on, whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in I ondon, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8). standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 180

Q.1
80

Ans 1. absolved
< 2 revolved
v 3. involved
< 4 evolved

Select the most appropriate option to fill blank no 5:

Question ID : 9895801916
Status : Not Answered
Chosen Option : --

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred years ago, the treadmill was invented in England as a
prison rehabilitation device. It was meant to cause the
(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer
raised in a family of millwrights, created the treadmill—which was
also called a treadwheel in the early days—in 1818. Cubitt’s early

attempts at the treadmill’s (3) took many forms,
including two wheels you walked on, whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in London, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8), standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 181

Q.1
81

Ans 1. entrenched
#< 2. adorned
< 3. embellished
v 4 embedded

Select the most appropriate option to fill blank no 6:

Question ID : 9895801917
Status : Not Answered
Chosen Option : --

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred years ago, the treadmill was invented in England as a
prison rehabilitation device. It was meant to cause the
(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer
raised in a family of millwrights, created the treadmill—which was
also called a treadwheel in the early days—in 1818. Cubitt’s early

attempts at the treadmill’s (3) took many forms,
including two wheels vou walked on, whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in I ondon, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8). standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 182

Q1 Select the most appropriate option to fill blank no 7:

82

Ans X 1. packed
X 2. grew
« 3 ground
/< 4. planted

Question ID : 9895801918
Status : Not Answered
Chosen Option : --

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred years ago, the treadmill was invented in England as a

prison rehabilitation device. It was meant to cause the

(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer

raised in a family of millwrights, created the treadmill—which was

also called a treadwheel in the early days—in 1818. Cubitt’s early

attempts at the treadmill’s (3) took many forms,
including two wheels vou walked on, whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in I ondon, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8). standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 183

%; Select the most appropriate option to fill blank no 8:
Ans X 1. Dormant

/< 2. Happy

X 3. Jailed

« 4 Busy

Question ID : 9895801919
Status : Answered
Chosen Option : 4

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred years ago, the treadmill was invented in England as a
prison rehabilitation device. It was meant to cause the
(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer
raised in a family of millwrights, created the treadmill—which was
also called a treadwheel in the early days—in 1818. Cubitt’s early

attempts at the tfreadmill’s (3) took many forms,
including two wheels you walked on, whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in I ondon, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8). standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 184

Q1 Select the most appropriate option to fill blank no 9

84

Ans 1. resided
X 2 divided
v 3. included
#< 4 examined

Question ID : 9895801920
Status : Not Answered
Chosen Option : --

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Two hundred years ago, the treadmill was invented in England as a
prison rehabilitation device. It was meant to cause the
(1) to suffer and learn from their sweat. It would mill a bit of corn or
(2) some water as a bonus. William Cubitt, a civil engineer
raised in a family of millwrights, created the treadmill—which was
also called a treadwheel in the early days—in 1818. Cubitt’s early

attempts at the treadmill’s (3) took many forms,
including two wheels you walked on, whose cogs interlocked. But
his most popular (4), which was installed at Brixton
Prison in London, (5) a wide wheel. Prisoners pressed
down with their feet on steps (6) in the wheel, which
moved it, presenting them with the next step. The Brixton treadmill
was hooked up to subterranean machinery that (7)

corn. This treadmill could keep as many as 24 prisoners

(8), standing side-by-side along the wheel. Some devices at other
prisons were smaller, and most treadmills soon (9)
partitions, so convicts could not socialize. They (10)
for 10 hours a day in summer, and a mere seven in winter.

SubQuestion No : 185

Q1 Select the most appropriate option to fill blank no 10,

85

Ans 1. dragged
< 2 talked
o 3 slogged
< 4 gagged

Question ID : 9895801921
Status : Not Answered
Chosen Option : --

Q.1 Select the alternative that will improve the underlined part of the sentence; if no improvement is required, select
86 ‘No improvement”.

She will say she has money to spare. What was the use of asking her?
Ans X 1. What must be the use

/< 2. No improvement

+ 3 What is the use
/< 4 What were the use

Question ID : 9895801891
Status : Answered
Chosen Option : 3

%'71 Select the correct passive form of the given sentence.

To understand global warming and the ozone hole you need science.
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Ans X-L

Science was needed to understand global warming and the ozone hole.

X 2

Science has been needed to understand global warming and the ozone hole.

p

Science is being needed to understand global warming and the ozone hole.

v &

Science is needed to understand global warming and the ozone hole.

Question ID : 9895801870
Status : Answered
Chosen Option : 4

Q.1 Identify the segment in the sentence which contains the grammatical error.
88

Dwart galaxies have to hold clues that could help us to understand better the nature of dark matter.
Ans 1. dark matter
#< 2 to understand better
« 3. have to hold
/< 4 could help us

Question ID : 9895801858
Status : Answered
Chosen Option : 2

%91 Select the most appropriate antonym of the given word.

DASHED
Ans X 1. weakened

« 2. encouraged
/< 3. destroyed
/%< 4 produced

Question ID : 9895801934
Status : Not Answered
Chosen Option : --

%-J Select the correct direct form of the given sentence.

My friends told me that they would go home for Pongal the following Sunday.

Ans x1~

My friend said, “We would go home for Pongal next Sunday.”

v 2

My friend said to me, “We will go home for Pongal the coming Sunday.”

<3
My friend said, ““We go home for Pongal the coming Sunday.”
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54

My friend told me, “We are going home for Pongal the coming Sunday.”

Question ID : 9895801884
Status : Answered
Chosen Option : 2

%'11 Select the most appropriate synonym of the given word.

COMPLICATED
Ans o 1. complex

< 2. disorganized
/< 3. jumbled

/< 4 lengthy

Question ID : 9895801929
Status : Answered
Chosen Option : 1

%’21 Select the most appropriate synonym of the given word.

ATTERATION
Ans o 1. modification

/< 2. adjudication

& 3. modulation

/< 4. conciliation

Question ID : 9895801931
Status : Not Answered
Chosen Option : --

%; Select the correct direet form of the given sentence.

The weathermian said that rain is expected the next day.
Ans % 1. The weatherman said, “Rain was expected tomorrow.”
/< 2. The weatherman said, “Rain can be expected tomorrow.”
/< 3. The weatherman said, “Rain is expected the next day.”

« 4 The weatherman said, “‘Rain is expected tomorrow.”

Question ID : 9895801882
Status : Answered
Chosen Option : 4

Q.1
94
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Select the correct indirect form of the given sentence.

“I am not happy about the announcement,” Bob Tilman said.

Ans x-]_

Bob Tilman confessed that he is not happy about the announcement.

X2

Bob Tilman told that he was not happy about the announcement.
v
Bob Tilman confessed that he was not happy about the announcement.

X a

Bob Tilman says that he was not happy at the announcement.

Question ID : 9895801879
Status : Answered
Chosen Option : 3

Q1 Select the most appropriate synonym of the given word.

95
OVERWHELMING
Ans 1. impressive
/< 2 striking

+ 3. awesome
/< 4 mortifying

Question ID : 9895801930
Status : Not Answered
Chosen Option : --

%1 Select the correct passive form of the given sentence.
6

The ideology of our time has embraced the idea of trying to hold things stable and static.

Ans «1.

The idea of trying to hold things stable and static has been embraced by the ideology of our time.

X 2

The idea of trying to hold things stable and static has embraced by the ideology of our time.

X 3

The idea of trying to hold things stable and static have been embraced by the ideology of our time.

X a

The idea of trying to hold things stable and static will be embraced by the ideology of our time.

Question ID : 9895801872
Status : Answered
Chosen Option : 1

Q.1

o7 Select the correct indirect form of the given sentence.

John said. “When I am bored. I cook.™
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Ans o 1. John said that when he was bored, he cooked.
/< 2. John said that when he is bored. he will cook.

/< 3. John said that when he cooked he was bored.
/< 4. John says that when he is bored. he cooks.

Question ID : 9895801875
Status : Answered
Chosen Option: 1

Q1 Select the most appropriate synonym of the given word.

98
DISTASTE

Ans  of 1. loathing
& 2. peutral
X 3. tasteless
< 4 banal

Question ID : 9895801928
Status : Answered
Chosen Option : 3

——

%'91 Select the most appropriate meaning of the idiom given below:

Do something at the drop of the hat
Ans X 1. do something without wearing a hat
+ 2. do something without having planned beforehand
/< 3. do something wearing a hat

/< 4 do something that requires great planning

Question ID : 9895801941
Status : Answered
Chosen Option : 4

=
Q.2 Select the most appropriate option to fill in the blank.

Literamre does not exist only to provoke feelings of happiness or to us with its pleasure: it should also challenge
and perturb us.

Ans X 1. reconcile

7 2 trouble
/< 3 cloy
+ 4 placate

Question ID : 9895801898
Status : Not Answered
Chosen Option : --
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